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❛ s✐♥❣❧❡ ❧♦❝❛t✐♦♥ ✇❡ ✉s❡ ♣❤♦t♦✲❧✐t♦❣r❛♣❤② t♦ ❞❡♣♦s✐t ❛ s♠❛❧❧ ♦❜❥❡❝t ✇❤✐❝❤ r❡♠❛✐♥❡s ❛❧✇❛②s ✇✐t❤✐♥
t❤❡ ❞r♦♣❧❡t ❜✉t st✐❧❧ ♣r❡✈❡♥ts t❤❡ ❞r♦♣ ❢r♦♠ ♠♦✈✐♥❣ ❛✇❛②✳ ❚❤✐s ♦❜❥❡❝t ❤❛s t❤❡ s❤❛♣❡ ♦❢ ❛ ❞✐s❦
✶✵✵ ➭♠ t❤✐❝❦ ❛♥❞ ✷ ♠♠ ✐♥ ❞✐❛♠❡t❡r ✭♥♦t✐❝❡❛❜❧❡ ✐♥ ❋✐❣✉r❡ ❙✶❛✮ ♠❛❞❡ ✐♥ ❙❯✲✽ r❡s✐♥✳ ❲❡ s❤♦✉❧❞
str❡ss t❤❛t t❤✐s ♣r♦tr✉s✐♦♥ ❤❛s ♥♦ ✐♠♣❛❝t ♦♥ t❤❡ ✈❛❧✐❞✐t② ♦❢ ♦✉r ✈❛♣♦✉r ❝❧♦✉❞ ♠❡❛s✉r❡♠❡♥ts ❛s ✐t
r❡♠❛✐♥s ✐♠♠❡rs❡❞ ✐♥ t❤❡ ❞r♦♣ ❢♦r s✉✣❝✐❡♥t❧② ❧❛r❣❡ ❞r♦♣s ✭s❡❡ ❋✐❣✉r❡ ❙✶❜✮✳ ■❢ ✐t ❤❛s ❛♥② ❡✛❡❝t✱ ✐t
✇✐❧❧ ❜❡ ♦♥ t❤❡ r❡❝✐r❝✉❧❛t✐♦♥ ✐♥s✐❞❡ t❤❡ ❞r♦♣❧❡t✱ ❛♥❞ ❡✈❡♥ t❤❛t ✐s ❡①♣❡❝t❡❞ t♦ ❜❡ ♠✐♥♦r✳ Pr♦❜❧❡♠s
❛r✐s❡ ♦♥❧② ❢♦r s♠❛❧❧❡r ❞r♦♣s✱ ✇✐t❤ ❛ ❞✐❛♠❡t❡r ❛♣♣r♦❛❝❤✐♥❣ t❤❛t ♦❢ t❤❡ ❝②❧✐♥❞r✐❝❛❧ ♣r♦tr✉s✐♦♥✳ ❆s
s✉❝❤✱ ✇❡ ❞❡❝✐❞❡❞ t♦ ❧✐♠✐t t❤❡ ♣r❡s❡♥t st✉❞② t♦ ❞r♦♣❧❡ts ❧❛r❣❡r t❤❛♥ ✷✳✹ ♠♠ ✐♥ ❞✐❛♠❡t❡r✳ ❖♥ t❤❡
♦t❤❡r ❤❛♥❞✱ s✉❝❤ ❛ ❧✐♠✐t❛t✐♦♥ t♦ ❧❛r❣❡r ❞r♦♣s s✉✐t❡❞ ✉s ✇❡❧❧ ❢r♦♠ t❤❡ ✈✐❡✇♣♦✐♥t ♦❢ ❜♦t❤ ❛ ❜❡tt❡r
r❡s♦❧✉t✐♦♥ ♦❢ t❤❡ ✈❛♣♦✉r ❝❧♦✉❞ ❛♥❞ ❛ ♣♦ss✐❜❧❡ ❝♦♠♣❛r✐s♦♥ ✇✐t❤ ❜♦✉♥❞❛r②✲❧❛②❡r s✐♠✉❧❛t✐♦♥s ✭✈❛❧✐❞
❢♦r ❧❛r❣❡ ❡♥♦✉❣❤ ❞r♦♣❧❡t s✐③❡s✮✳
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❆s ❡①♣❧❛✐♥❡❞ ✐♥ t❤❡ ♠❛✐♥ t❡①t✱ ❛ r❡❢❡r❡♥❝❡ ✐♠❛❣❡ ✐s ❛❝q✉✐r❡❞ ❜❡❢♦r❡ t❤❡ ❞❡♣♦s✐t✐♦♥ ♦❢ t❤❡ ❞r♦♣✱
✇❤✐❝❤ ✐s s❤♦✇♥ ✐♥ ❋✐❣✉r❡ ❙✶✭❛✮✳ ■ts ♣❤❛s❡ ✐s ❛♥❛❧②s❡❞ ❢♦r ❡❛❝❤ ♣✐①❡❧ ❛♥❞ ❝♦♠♣❛r❡❞ t♦ t❤❛t ✐♥ t❤❡
♣r❡s❡♥❝❡ ♦❢ t❤❡ ❞r♦♣❧❡t ✭s❡❡ ❋✐❣✉r❡ ❙✶❜✮✳ ❚❤✐s ❧❡❛❞s t♦ ❛ ✏✇r❛♣♣❡❞✑ ♣❤❛s❡ ♠❛♣ ✇❤✐❝❤ ✐s s❤♦✇♥
✐♥ ❋✐❣✉r❡ ❙✶✭❝✮✳ ❆♥ ✉♥✇r❛♣♣✐♥❣ ❛❧❣♦r✐t❤♠ t❤❡♥ ❣❡ts r✐❞ ♦❢ t❤❡ ❞✐s❝♦♥t✐♥✉✐t✐❡s ❛♥❞ s❡ts t❤❡ t♦t❛❧
♣❤❛s❡ ❥✉♠♣ ♦✉ts✐❞❡ ♦❢ t❤❡ ♣❧✉♠❡ ❡q✉❛❧ t♦ ③❡r♦✳ ❚❤✐s ✜♥❛❧ ♣❤❛s❡ ♠❛♣ ✐s s❤♦✇♥ ✐♥ ❋✐❣✉r❡ ❙✶✭❞✮✳

❋✐♥❛❧❧② ♥♦t❡ t❤❛t t❤❡ ❢r✐♥❣❡s ❛r❡ ❝❤♦s❡♥ t♦ ❜❡ ✈❡rt✐❝❛❧ ✐♥ ♦✉r ♠❡❛s✉r❡♠❡♥ts✳ ❲❤✐❧❡ ❛♥② ♦r✐❡♥t✲
❛t✐♦♥ ✐s ✐♥ ♣r✐♥❝✐♣❧❡ ♣♦ss✐❜❧❡✱ t❤❡ ❝✉rr❡♥t ❝♦♥✜❣✉r❛t✐♦♥ ✐s ♣r❡❢❡rr❡❞ ❞✉❡ t♦ t❤❡ ❢❛❝t t❤❛t t❤❡ ❋♦✉r✐❡r
tr❛♥s❢♦r♠ ♣r♦✜❧♦♠❡tr② ❛❧❣♦r✐t❤♠ ❤❛s t❤❡ s✐❞❡✲❡✛❡❝t ♦❢ ❛ ❧♦✇ ♣❛ss ✜❧t❡r ✐♥ t❤❡ ❞✐r❡❝t✐♦♥ ♣❡r♣❡♥✲
❞✐❝✉❧❛r t♦ t❤❡ s❡♥s❡ ♦❢ t❤❡ ❢r✐♥❣❡s✳ ❆s t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥ ❣r❛❞✐❡♥ts ❛❧♦♥❣ t❤❡ ✐♥t❡r❢❛❝❡ ♥♦r♠❛❧s
❛r❡ ♣r❡❞♦♠✐♥❛♥t❧② ✈❡rt✐❝❛❧✱ ❛ ❤♦r✐③♦♥t❛❧ s♠♦♦t❤✐♥❣ ✐s ♣r❡❢❡rr❡❞✱ t❤✉s ❧❡❛❞✐♥❣ t♦ t❤❡ ✉s❡ ♦❢ ✈❡rt✐❝❛❧
❢r✐♥❣❡s✳

❋✐❣✉r❡ ❙✶✿ ✭❛✮ ❘❡❢❡r❡♥❝❡ ✐♠❛❣❡✳ ✭❜✮ ❘❛✇ ✐♠❛❣❡ ✇✐t❤ ❞r♦♣❧❡t✳ ✭❝✮ ❲r❛♣♣❡❞ ♣❤❛s❡✳ ✭❞✮ ❯♥✇r❛♣♣❡❞
♣❤❛s❡✳

❚♦♠♦❣r❛♣❤✐❝ ❘❡❝♦♥str✉❝t✐♦♥

●✐✈❡♥ t❤❛t ✐♥t❡r❢❡r♦♠❡tr② ✐s ❛ ❧✐♥❡✲♦❢✲s✐❣❤t t❡❝❤♥✐q✉❡✱ t❤❡ ♦❜t❛✐♥❡❞ ♣❤❛s❡✲s❤✐❢t ✜❡❧❞ st✐❧❧ ♥❡❡❞s t♦
❜❡ t♦♠♦❣r❛♣❤✐❝❛❧❧② r❡❝♦♥str✉❝t❡❞ t♦ ②✐❡❧❞ t❤❡ t❤r❡❡ ❞✐♠❡♥s✐♦♥❛❧ ✜❡❧❞ ♦❢ t❤❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡①✳ ■❢ t❤❡
t❛r❣❡t ✐s ❛①✐s②♠♠❡tr✐❝✱ ❛♥ ✐♥✈❡rs❡ ❆❜❡❧ tr❛♥s❢♦r♠ ❝❛♥ t②♣✐❝❛❧❧② ❜❡ ✉s❡❞ ♦♥ ❛ s✐♥❣❧❡ ✈✐❡✇ t♦ ♦❜t❛✐♥
❛ ♠❡r✐❞✐❛♥ ❤❛❧❢✲♣❧❛♥❡ r❡♣r❡s❡♥t❛t✐♦♥ t❤❡r❡♦❢❙✶✳ ❆♣♣❧✐❡❞ t♦ t❤❡ ♣r❡s❡♥t ❝❛s❡✱ t❤❡ r❡❢r❛❝t✐✈❡✲✐♥❞❡①
❞✐✛❡r❡♥❝❡ ✜❡❧❞ ∆n ✭❛t ❛ ❣✐✈❡♥ ❤❡✐❣❤t z✮ ✐s ❣✐✈❡♥ ❜②
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∆n (r) =
−λ

2π2

ˆ

∞

r

φ′(x)√
x2 − r2

dx ,

✇❤❡r❡ r ✐s t❤❡ ❝②❧✐♥❞r✐❝❛❧ r❛❞✐❛❧ ❝♦♦r❞✐♥❛t❡✱ λ ✐s t❤❡ ✇❛✈❡❧❡♥❣t❤ ♦❢ t❤❡ ❧❛s❡r ❛♥❞ φ′ (r) ✐s t❤❡
❞❡r✐✈❛t✐✈❡ ♦❢ t❤❡ ♣❤❛s❡✲s❤✐❢t ✜❡❧❞ ❡①tr❛❝t❡❞ ❢r♦♠ t❤❡ ❢r✐♥❣❡ ✐♠❛❣❡s ✭❛s ❞❡s❝r✐❜❡❞ ✐♥ t❤❡ ♣r❡✈✐♦✉s
s✉❜s❡❝t✐♦♥✮✳ ■♥❤❡r❡♥t t♦ t❤✐s tr❛♥s❢♦r♠ ✐s ❛ ❝❡rt❛✐♥ ❛✉❣♠❡♥t❛t✐♦♥ ♦❢ t❤❡ ♥♦✐s❡✱ ❡s♣❡❝✐❛❧❧② ♥❡❛r
t❤❡ s②♠♠❡tr② ❛①✐s✳ ❆s s✉❝❤✱ ♠❛♥② ♦❢ t❤❡ ❛❧❣♦r✐t❤♠s ♣r♦♣♦s❡❞ ♦✈❡r t❤❡ ②❡❛rs ❛❞❞ ❛ ❝❡rt❛✐♥
✜❧t❡r✐♥❣ ❝❛♣❛❜✐❧✐t② t♦ ❛❧❧❡✈✐❛t❡ t❤❡s❡ ♣r♦❜❧❡♠s✳❙✷ ❲❡ ❤❛✈❡ ✐♠♣❧❡♠❡♥t❡❞ t❤r❡❡ ❞✐✛❡r❡♥t ❛❧❣♦r✐t❤♠s
✐♥ ♦r❞❡r t♦ ❛s❝❡rt❛✐♥ ✇❤✐❝❤ ♦♥❡ ❝♦✉❧❞ ❣✐✈❡ t❤❡ ❜❡st r❡s✉❧ts ✐♥ ♦✉r ♣❛rt✐❝✉❧❛r ❝❛s❡✿ t❤❡ t❤r❡❡✲♣♦✐♥t
❆❜❡❧ tr❛♥s❢♦r♠ ♠❡t❤♦❞❙✶✱ t❤❡ ▼♦❞✐✜❡❞ ❋♦✉r✐❡r✲❍❛♥❦❡❧ ✭▼❋❍✮ ♠❡t❤♦❞❙✷ ❛♥❞ t❤❡ ❊✈❡♥✲P♦✇❡r
✭❊P✮ ♠❡t❤♦❞❙✸✳ ❚❤❡ ♣r❡❧✐♠✐♥❛r② s❝❛♥ ♦❢ t❤❡s❡ t❤r❡❡ ❛❧❣♦r✐t❤♠s ❤❛s s❤♦✇♥ t❤❛t ❛❧❧ ♠❡t❤♦❞s ❣✐✈❡
❡ss❡♥t✐❛❧❧② t❤❡ s❛♠❡ r❡s✉❧ts✳ ❍♦✇❡✈❡r✱ ✇✐t❤ t❤❡ ❛✐♠ ♦❢ ❡①tr❛❝t✐♥❣ ❧♦❝❛❧ ❣r❛❞✐❡♥ts✱ t❤❡ s♠♦♦t❤ r❡s✉❧t
❢r♦♠ t❤❡ ❊P✲♠❡t❤♦❞ ✐s ♣r❡❢❡rr❡❞ ❢♦r t❤❡ ♣r❡s❡♥t ✇♦r❦✳

❈♦♥✈❡rt✐♥❣ ❘❡❢r❛❝t✐✈❡ ■♥❞❡① ✐♥t♦ ❱❛♣♦✉r ▼♦❧❡ ❋r❛❝t✐♦♥

❆❢t❡r t❤❡ ❆❜❡❧ tr❛♥s❢♦r♠ ❤❛s ②✐❡❧❞❡❞ t❤❡ r❡❢r❛❝t✐✈❡✲✐♥❞❡① ✜❡❧❞✱ ❛ ❝♦♥✈❡rs✐♦♥ r❡❧❛t✐♦♥ ✐s st✐❧❧ ♥❡❡❞❡❞
t♦ ❝♦♥✈❡rt t❤✐s ✐♥t♦ t❤❡ ✈❛♣♦✉r ❝♦♥❝❡♥tr❛t✐♦♥ ✜❡❧❞✳ ❋r♦♠ t❤❡ ▲♦r❡♥t③✲▲♦r❡♥③ ❡q✉❛t✐♦♥❙✹✱❙✺✱ ✐t ✐s
❦♥♦✇♥ t❤❛t t❤❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♦❢ ❛ ♠✐①t✉r❡ ♦❢ ❣❛s❡s ❝❛♥ ❜❡ ❡①♣r❡ss❡❞ ❛s

nmix − 1 =
3Ptot

2RT

∑

i

χiAi , ✭✶✮

✇❤❡r❡ nmix ✐s t❤❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♦❢ t❤❡ ♠✐①t✉r❡✱ Ptot ✐s t❤❡ t♦t❛❧ ❛♠❜✐❡♥t ♣r❡ss✉r❡✱ R t❤❡ ✉♥✐✈❡rs❛❧
❣❛s ❝♦♥st❛♥t✱ T t❤❡ t❡♠♣❡r❛t✉r❡✱ χi ✐s t❤❡ ♠♦❧❡ ❢r❛❝t✐♦♥ ♦❢ t❤❡ ❝♦♠♣♦♥❡♥t i ❛♥❞ Ai ✐s t❤❡ ♠♦❧❡❝✉❧❛r
♣♦❧❛r✐s❛❜✐❧✐t② ♦❢ t❤❡ ❝♦♠♣♦♥❡♥t i✳ ❚r❡❛t✐♥❣ t❤❡ ❣❛s ❛s ❛ ❜✐♥❛r② ♠✐①t✉r❡ ♦❢ ❛✐r ❛♥❞ ❍❋❊✲✼✵✵✵ ✈❛♣♦✉r✱
✇❡ ❤❛✈❡

nmix − 1 =
3Ptot

2RT
(χAHFE) + (1− χ)(nair − 1) ,

♦r r❛t❤❡r

nmix − nair =
3Ptot

2RT
χ (AHFE − Aair) ,

♦r

nmix − nair = χ (nHFE − nair) . ✭✷✮

❚❤✉s ❡q ✷ ♦❢ t❤❡ ♠❛✐♥ t❡①t ✐s r❡❝♦✈❡r❡❞ ✇✐t❤ nHFE t❤❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♦❢ ♣✉r❡ ❍❋❊ ✈❛♣♦✉r ❛t
Ptot ❛♥❞ T ❛♥❞ nair ✐s t❤❛t ♦❢ ❛✐r✳ ❚❤✉s✱ ❛s ✐t ✐s ❡①♣❡r✐♠❡♥t❛❧❧② t❤❡ ✈❛❧✉❡ ∆n = nmix − nair t❤❛t
✐s ♠❡❛s✉r❡❞ ✐♥ ♦✉r ❤♦❧♦❣r❛♣❤✐❝ s❡t✉♣ ✭❞✉❡ t♦ t❤❡ ♣❤❛s❡ s✉❜str❛❝t✐♦♥ ♦❢ ❛ r❡❢❡r❡♥❝❡ ✐♠❛❣❡ ✐♥ ✬♣✉r❡✬
❛✐r✮✱ ❥✉st ❛ ♣r♦♣♦rt✐♦♥❛❧✐t② ❝♦♥st❛♥t ✐s ♥❡❡❞❡❞ t♦ tr❛♥s❢♦r♠ t❤❡ ♦❜t❛✐♥❡❞ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♣r♦✜❧❡
✐♥t♦ t❤❡ ♠♦❧❡✲❢r❛❝t✐♦♥ ❞✐str✐❜✉t✐♦♥ χ ✐❢ t❤❡ ♣r❡ss✉r❡ ❛♥❞ t❡♠♣❡r❛t✉r❡ ❛r❡ ❛ss✉♠❡❞ ❝♦♥st❛♥t✳

❚♦ q✉❛♥t✐❢② t❤✐s ♣r♦♣♦rt✐♦♥❛❧✐t② ❝♦♥st❛♥t✱ ♦♥❧② t❤❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♦❢ ♣✉r❡ ❍❋❊✲✼✵✵✵ ✈❛♣♦✉r
✐s ♥❡❡❞❡❞✳ ❍♦✇❡✈❡r✱ ❛s t❤✐s ✐s ♥♦t ②❡t ❦♥♦✇♥ ✐t ♠✉st ❜❡ ♠❡❛s✉r❡❞ ❤❡r❡✳ ❲✐t❤ ♥♦ ❞❡❞✐❝❛t❡❞
❣❛s r❡❢r❛❝t♦♠❡t❡r ❛✈❛✐❧❛❜❧❡✱ ✇❡ s✐♠♣❧② ♠❡❛s✉r❡ t❤❡ ❛❜s♦❧✉t❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♦❢ ❛♥ ❛t♠♦s♣❤❡r❡

❙✸



s❛t✉r❛t❡❞ ✇✐t❤ ❍❋❊✲✼✵✵✵ ✈❛♣♦✉r ❛t ❞✐✛❡r❡♥t t❡♠♣❡r❛t✉r❡s✳ ❚♦ t❤✐s ❡♥❞✱ ❛ sq✉❛r❡ ❝✉✈❡tt❡ ✇✐t❤
✐♥t❡r♥❛❧ ❞✐♠❡♥s✐♦♥s ♦❢ 5× 5 ❝♠ ✐s ✜❧❧❡❞ ✇✐t❤ ❛ ♠✐♥✐♠❛❧ ❛♠♦✉♥t ♦❢ ❧✐q✉✐❞ ❍❋❊✲✼✵✵✵ ❛❢t❡r ✇❤✐❝❤ ❛
❝♦✈❡r ✐s ♣❧❛❝❡❞ ♦♥ t❤❡ t♦♣ t♦ ♣r❡✈❡♥t ❢✉rt❤❡r ❡✈❛♣♦r❛t✐♦♥✳ ❚❤❡ ∆n ✈❛❧✉❡ ✐s ♠❡❛s✉r❡❞ ❜② st❛rt✐♥❣
❢r♦♠ t❤❡ t❤❡r❡❜② ❛tt❛✐♥❡❞ s❛t✉r❛t❡❞ st❛t❡ ❥✉st ❛❜♦✈❡ t❤❡ ❧✐q✉✐❞ ✐♥t❡r❢❛❝❡ ✭❤❡♥❝❡ ❛ ❦♥♦✇♥ ✈❛❧✉❡ ♦❢
χ✮ ❛♥❞ ✐♥t❡r❢❡r♦♠❡tr✐❝❛❧❧② ❢♦❧❧♦✇✐♥❣ t❤❡ ❝❤❛♥❣❡s ✐♥ t❤❡ ♦♣t✐❝❛❧ ♣❛t❤ ❛s t❤❡ ❧✐q✉✐❞ ✐s t❤❡♥ ❛❧❧♦✇❡❞
t♦ ♣r♦❣r❡ss✐✈❡❧② ❛♥❞ ❝♦♠♣❧❡t❡❧② ❡✈❛♣♦r❛t❡✳ ❚❤✉s✱ t❤❡ ♣r♦♣♦rt✐♦♥❛❧✐t② ❝♦♥st❛♥t t♦ ❝♦♥✈❡rt ∆n
✐♥t♦ χ ✐s ❢♦✉♥❞ t♦ ❜❡ 737 ± 16 ✭✐✳❡✳ nHFE = 1.00163 ± 2.9 × 10−5✮ ❢♦r ❛ ✇❛✈❡❧❡♥❣t❤ ♦❢ ✻✻✵ ♥♠✱
❛t♠♦s♣❤❡r✐❝ ♣r❡ss✉r❡ ❛♥❞ ✷✹➦❈✳ ❚❤✐s ✐♠♣❧✐❡s ❛ ❞✐✛❡r❡♥❝❡ ✐♥ t❤❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♦❢ ❛♣♣r♦①✐♠❛t❡❧②
+8.3×10−4 ❛s t❤❡ r❡❧❛t✐✈❡ ❤✉♠✐❞✐t② ♦❢ ❍❋❊✲✼✵✵✵ ✐s ❝❤❛♥❣❡❞ ❢r♦♠ ✵✪ t♦ ✶✵✵✪✳ ❚❤✐s ❧❛r❣❡ ❞✐✛❡r❡♥❝❡
✐s ❝❛✉s❡❞ ❜② ❛ ❝♦♠❜✐♥❡❞ ❡✛❡❝t ♦❢ ❛ s✉❜st❛♥t✐❛❧ ❞✐✛❡r❡♥❝❡ ✐♥ t❤❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♦❢ ♣✉r❡ ❍❋❊✲✼✵✵✵
❛♥❞ ❛♠❜✐❡♥t ❛✐r ✭❡st✐♠❛t❡❞ t♦ ❜❡ 1.36 × 10−3✮ ❛♥❞ t❤❡ ❢❛❝t t❤❛t t❤❡ s❛t✉r❛t✐♦♥ ♠♦❧❡ ❢r❛❝t✐♦♥ ❛t
❛♠❜✐❡♥t ❝♦♥❞✐t✐♦♥s ✐s ❛s ❧❛r❣❡ ❛s ✻✶✪✳ ■♥ t②♣✐❝❛❧ ❛♠❜✐❡♥t t❡♠♣❡r❛t✉r❡s r❛♥❣✐♥❣ ❢r♦♠ ✷✵➦❈ t♦
✷✺✳✺➦❈✱ t❤❡ ❝✉rr❡♥t ❝❛❧✐❜r❛t✐♦♥ ♣r♦❝❡❞✉r❡ ❛❝❤✐❡✈❡s ❛ r❡❛s♦♥❛❜❧❡ ❛❝❝✉r❛❝② ♦❢ ❛r♦✉♥❞ ✷✳✶✼✪ ✭♦✈❡r ✼
♠❡❛s✉r❡♠❡♥t ♣♦✐♥ts✮✳

❆s ✐♥ t❤❡ ❡①♣❡r✐♠❡♥t ♥♦t ♦♥❧② t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥ ❜✉t ❛❧s♦ t❤❡ ❣❛s t❡♠♣❡r❛t✉r❡ ✐s ♥♦♥✲✉♥✐❢♦r♠✱
✐t ✐s ✐♠♣♦rt❛♥t t♦ ❛ss❡ss t❤❡ ✐♥✢✉❡♥❝❡ ♦❢ t❤❡ ❧❛tt❡r✳ ❚♦ t❤❛t ❡♥❞✱ ✇❡ st❛rt ❢r♦♠ t❤❡ s❛♠❡ ❡q ✶ ❜✉t
♥♦✇ t❛❦✐♥❣ ✐♥t♦ ❛❝❝♦✉♥t t❤❛t t❤❡ r❡❢r❛❝t✐✈❡✲✐♥❞❡① ❞✐✛❡r❡♥❝❡ ♠❡❛s✉r❡❞ ✐s ♥♦t t❤❡ s❛♠❡ ❛s ✐♥ ❡q ✷✱
❜✉t r❛t❤❡r ∆n = nmix − nair,amb ✇✐t❤ nmix ❜❡✐♥❣ ❛t ❛ ❧♦❝❛❧❧② ✈❛r②✐♥❣ t❡♠♣❡r❛t✉r❡✳ ❍❛✈✐♥❣ t❤✐s ❡♥❞
❣♦❛❧ ✐♥ ♠✐♥❞✱ ✇❡ ♥♦✇ ❞❡r✐✈❡ ❡q ✶ ♦❢ t❤❡ ♠❛✐♥ t❡①t✱ ✇❤✐❝❤ ✐s r❡♣❡❛t❡❞ ❤❡r❡✿

χ =
1

nHFE,amb − nair,amb

T

Tamb

[

∆n− (nair,amb − 1)

(

Tamb

T
− 1

)]

. ✭✸✮

❋r♦♠ t❤✐s ❢♦r♠✉❧❛ ✇❡ ❝❛♥ ♥♦t❡ t❤❛t t❤❡r❡ ❛r❡ t✇♦ ❡rr♦r s♦✉r❝❡s ❛♣♣❡❛r✐♥❣ ✐❢ ♦♥❡ ♥❡❣❧❡❝ts t❤❡
t❡♠♣❡r❛t✉r❡ ✈❛r✐❛t✐♦♥ ❛♥❞ s✐♠♣❧② ✉s❡s ❡q ✷✳ ❚❤❡ ✜rst ❝♦♠❡s ❢r♦♠ t❤❡ ♣r♦♣♦rt✐♦♥❛❧✐t② ❢❛❝t♦r ❜❡✐♥❣
✐♥ r❡❛❧✐t② t❡♠♣❡r❛t✉r❡✲❞❡♣❡♥❞❡♥t✳ ❚❤✉s✱ ❛ t❡♠♣❡r❛t✉r❡ ❞✐✛❡r❡♥❝❡ ♦❢ ✶✵➦❈ ✇✐❧❧ ❧❡❛❞ t♦ ❛♥ ❡rr♦r ♦❢
∼ 3.4✪ ✐♥ t❤❡ ❡st✐♠❛t❡❞ χ✳ ❚❤❡ s❡❝♦♥❞ ❡rr♦r s♦✉r❝❡ ❝♦♠❡s ❢r♦♠ t❤❡ ❢❛❝t t❤❛t ✇❡ ✭❤♦❧♦❣r❛♣❤✐❝❛❧❧②✮
❝♦♠♣❛r❡ t❤❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♦❢ t❤❡ ♠✐①t✉r❡ ✇✐t❤ t❤❡ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ♦❢ ❛✐r ♠❡❛s✉r❡❞ ❜❡❢♦r❡ t❤❡
st❛rt ♦❢ t❤❡ ❡①♣❡r✐♠❡♥t ✭✐✳❡✳ st✐❧❧ ❛t ❛♠❜✐❡♥t t❡♠♣❡r❛t✉r❡✮✳ ❚❤❡ ✐♠♣♦rt❛♥❝❡ ♦❢ t❤✐s t❡r♠ ❞❡♣❡♥❞s
♦♥ t❤❡ ♠❛❣♥✐t✉❞❡ ♦❢ ∆n✳ ❲❤❡♥ ❛ss✉♠✐♥❣ ❛ ♠♦❧❡ ❢r❛❝t✐♦♥ ♦❢ ✵✳✻✱ t❤✐s ❡rr♦r ✐s ♦♥❧② ∼ 1.2✪✳ ■❢ t❤❡
❧♦❝❛❧ ♠♦❧❡ ❢r❛❝t✐♦♥ ✐s ✵✳✹✱ t❤❡ ❡rr♦r ✐♥❝r❡❛s❡s t♦ ∼ 1.7✪✳ ❯♥❢♦rt✉♥❛t❡❧②✱ ❜♦t❤ ❡rr♦rs ✇♦r❦ ✐♥ t❤❡
s❛♠❡ ❞✐r❡❝t✐♦♥ ❛♥❞ ❛s T ≤ Tamb✱ ❡q ✷ ✐s ❜✐❛s❡❞ ✐♥t♦ ♦✈❡r❡st✐♠❛t✐♥❣ t❤❡ ♠♦❧❡ ❢r❛❝t✐♦♥ ❜② ✉♣ t♦ ✺✪
✐❢ t❡♠♣❡r❛t✉r❡ ❞✐✛❡r❡♥❝❡s ♦❢ t❤❡ ♦r❞❡r ♦❢ ✶✵➦❈ ❡✈❡♥t✉❛❧❧② t❛❦❡ ♣❧❛❝❡ ✐♥ ♦✉r s❡t✉♣✳

■♥t❡r❢❛❝❡ ❈♦♥t♦✉r ❊①tr❛❝t✐♦♥

❋♦r ♦❜✈✐♦✉s r❡❛s♦♥s✱ ✐t ✐s ♥❡❝❡ss❛r② t♦ ❧♦❝❛❧✐s❡ t❤❡ ❞r♦♣❧❡t ✐♥t❡r❢❛❝❡ ♦♥ t❤❡ ✐♥t❡r❢❡r♦♠❡tr✐❝ ✐♠❛❣❡✳ ❆s
t❤❡ ✐♥t❡r❢❡r♦♠❡tr✐❝ ❢r✐♥❣❡s r❡♥❞❡r t❤✐s ❞✐✣❝✉❧t✱ ✐♥ ❛ ✜rst st❡♣ t❤❡ ❢r✐♥❣❡s ❛r❡ ❡❧✐♠✐♥❛t❡❞ ❜② t❛❦✐♥❣
t❤❡ ❛♠♣❧✐t✉❞❡ ♦❢ t❤❡ ❝♦♠♣❧❡① ✐♥t❡♥s✐t② ✐♠❛❣❡ ❣❡♥❡r❛t❡❞ ✐♥ t❤❡ ❋♦✉r✐❡r tr❛♥s❢♦r♠ ♣r♦✜❧♦♠❡tr②
❛❧❣♦r✐t❤♠ ❜✉t ❞✐sr❡❣❛r❞✐♥❣ ✐ts ♣❤❛s❡✳ ❚❤✐s ✐♠❛❣❡ ✐s t❤❡♥ t❤r❡s❤♦❧❞❡❞ ❛♥❞ ❢r♦♠ t❤❡ r❡s✉❧t✐♥❣
✐♠❛❣❡✱ t❤❡ ❝♦♥t♦✉r ♦❢ t❤❡ ❞r♦♣ ✐s ❡①tr❛❝t❡❞✳ ❚❤❡ ♦❜t❛✐♥❡❞ ♣♦✐♥ts ❛r❡ ✜tt❡❞ ✇✐t❤ ❛ ❢♦✉rt❤✲♦r❞❡r
♣♦❧②♥♦♠✐❛❧ ✭❛s t❤✐s ❛❧❧♦✇s t♦ ❛❝❝♦✉♥t ❢♦r t❤❡ ❣r❛✈✐t②✲✐♥❞✉❝❡❞ s❤❛♣❡ ❞❡❢♦r♠❛t✐♦♥✮ t♦ ②✐❡❧❞ ❛ s♠♦♦t❤
❝♦♥t♦✉r✳ ❆s ✐t ✐s ✈✐s✐❜❧❡ ✐♥ ❋✐❣✉r❡ ❙✷✱ ❛ ❣♦♦❞ ✜tt✐♥❣ ✐s ♦❜t❛✐♥❡❞✳ ❚❤❡ ♦❜t❛✐♥❡❞ s❤❛♣❡ ✐s ✉s❡❞ t♦
tr❛❝❦ t❤❡ ❞r♦♣❧❡t ✈♦❧✉♠❡ ♦✈❡r t✐♠❡ ❛♥❞ t❤✉s t♦ ♣r♦✈✐❞❡ ❛♥ ✐♥❞❡♣❡♥❞❡♥t ♠❡❛s✉r❡♠❡♥t ♦❢ t❤❡ ❣❧♦❜❛❧
❡✈❛♣♦r❛t✐♦♥ r❛t❡ ♦❢ t❤❡ ❞r♦♣❧❡t✳

❙✹



❋✐❣✉r❡ ❙✷✿ ❆❢t❡r r❡♠♦✈❛❧ ♦❢ t❤❡ ❢r✐♥❣❡s ❢r♦♠ t❤❡ ✐♥t❡r❢❡r♦♠❡tr✐❝ ✐♠❛❣❡✱ ❛ s❛t✐s❢❛❝t♦r② ❝♦♥t♦✉r ✜t
❝❛♥ ❜❡ ❢♦✉♥❞ ✉s✐♥❣ ❛ ❢♦✉rt❤✲♦r❞❡r ♣♦❧②♥♦♠✐❛❧✳

■♥t❡r❢❛❝✐❛❧ ❚❡♠♣❡r❛t✉r❡s

❑♥♦✇✐♥❣ t❤❡ ✐♥t❡r❢❛❝❡ ❧♦❝❛t✐♦♥✱ ✐t ✐s str❛✐❣❤t❢♦r✇❛r❞ t♦ ❞❡t❡r♠✐♥❡ t❤❡ ♥♦r♠❛❧s t♦ ✐t✳ ❚❤❡ r❡❢r❛❝t✐✈❡✲
✐♥❞❡① ❞✐✛❡r❡♥❝❡ ❛❧♦♥❣ t❤❡s❡ ❧✐♥❡s ❝❛♥ t❤❡♥ ❜❡ ❡①tr❛❝t❡❞ ❢r♦♠ t❤❡ r❡❢r❛❝t✐✈❡✲✐♥❞❡① ❞✐✛❡r❡♥❝❡ ♠❛♣
t❤r♦✉❣❤ ❜✐❧✐♥❡❛r ✐♥t❡r♣♦❧❛t✐♦♥✳ ❆ ♠♦r❡ ♣r❡❝✐s❡ ❡st✐♠❛t✐♦♥ ♦❢ t❤❡ ✐♥t❡r❢❛❝✐❛❧ r❡❢r❛❝t✐✈❡✲✐♥❞❡① ❞✐✛❡r✲
❡♥❝❡ ✐s ♦❜t❛✐♥❡❞ ❢r♦♠ ❛ q✉❛❞r❛t✐❝ ✜t ♦✈❡r ✺✻✵ ➭♠ st❛rt✐♥❣ ❢r♦♠ ✸✺ ➭♠ ❢r♦♠ t❤❡ ✐♥t❡r❢❛❝❡✳ ❚❤❡r❡
❛r❡ ♥♦✇ t✇♦ ✇❛②s t♦ ♦❜t❛✐♥ ❛♥ ❡st✐♠❛t❡ ❢♦r t❤❡ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡ ❢r♦♠ t❤✐s r❡❢r❛❝t✐✈❡ ✐♥❞❡①
❞✐✛❡r❡♥❝❡ ✭❛s ❡①♣❧❛✐♥❡❞ ✐♥ t❤❡ ♠❛✐♥ t❡①t✮✳ ❖♥❡ ❝❛♥ s✐♠♣❧② ✉s❡ t❤❡ ♣r♦♣♦rt✐♦♥❛❧✐t② r❡❧❛t✐♦♥ ❣✐✈❡♥
❜② ❡q ✷ ❛♥❞ ✉s❡ t❤✐s ✈❛❧✉❡ χσ ✐♥s✐❞❡ χσ = Psat(Tσ)/Pamb ✇✐t❤ Psat ♣r♦✈✐❞❡❞ ❜② ✸▼➋✳ ❍♦✇❡✈❡r✱ ❛s
♠❡♥t✐♦♥❡❞ ❛❜♦✈❡✱ ❧♦❝❛❧ t❡♠♣❡r❛t✉r❡ ♥♦♥✲✉♥✐❢♦r♠✐t✐❡s ✐♥✢✉❡♥❝❡ t❤❡ ♠❡❛s✉r❡❞ r❡❢r❛❝t✐✈❡✲✐♥❞❡① ✜❡❧❞
❧❡❛❞✐♥❣ t♦ ❛ ❣❡♥❡r❛❧ ♦✈❡r❡st✐♠❛t✐♦♥ ❜② ❛ ❢❡✇ ♣❡r❝❡♥t ♦❢ t❤❡ ❧♦❝❛❧ ♠♦❧❡ ❢r❛❝t✐♦♥ ✇❤❡♥ ✉s✐♥❣ ❡q ✷✳
❆ ♠♦r❡ ❛❝❝✉r❛t❡ ✇❛② ✐s t♦ ✉s❡ t❤❡ ♠❡❛s✉r❡❞ ✐♥t❡r❢❛❝✐❛❧ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ✐♥s✐❞❡ ❡q ✸ ❝♦♠❜✐♥❡❞ ✇✐t❤
χσ = Psat(Tσ)/Pamb ❛♥❞ s♦❧✈❡ ❢♦r ❜♦t❤ ✉♥❦♥♦✇♥s ❛t t❤❡ s❛♠❡ t✐♠❡✳ ❆ ❝♦♠♣❛r✐s♦♥ ♦❢ t❤❡ ✉♥❝♦rr❡❝✲
t❡❞ ✭✜rst ♠❡t❤♦❞✮ ❛♥❞ ❝♦rr❡❝t❡❞ ✭s❡❝♦♥❞ ♠❡t❤♦❞✮ ♠❡❛s✉r❡❞ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡ ❞✐str✐❜✉t✐♦♥s
✐s s❤♦✇♥ ✐♥ ❋✐❣✉r❡ ❙✸✳ ❍❡r❡ ♦♥❡ ❝❛♥ ❝❧❡❛r❧② s❡❡ t❤❛t t❤❡ ❝♦rr❡❝t✐♦♥ ✐s ♠♦r❡ ❡ss❡♥t✐❛❧ ❢♦r ❧❛r❣❡r
❞✐✛❡r❡♥❝❡s ✇✐t❤ t❤❡ ❛♠❜✐❡♥t t❡♠♣❡r❛t✉r❡ ✭✷✹➦❈✮✳ ❚❤✐s ❝♦rr❡❝t❡❞ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡ ✭♦r ♠♦r❡
s♣❡❝✐✜❝❛❧❧② χσ✮ ✐s ✉s❡❞ ✐♥ t❤❡ ❧♦❝❛❧✲❡✈❛♣♦r❛t✐♦♥✲r❛t❡ ❞❡t❡r♠✐♥❛t✐♦♥ ✭❝❢✳ ❡q ✸ ✐♥ t❤❡ ♠❛✐♥ t❡①t ❛♥❞
❡q ✺ ❜❡❧♦✇✮✳ ❍♦✇❡✈❡r✱ ✇✐t❤♦✉t ❛ss✉♠✐♥❣ s♦♠❡ s♦rt ♦❢ t❡♠♣❡r❛t✉r❡ ♣r♦✜❧❡ s✉rr♦✉♥❞✐♥❣ t❤❡ ❞r♦♣✱ ✐t
✐s ✐♠♣♦ss✐❜❧❡ t♦ ❛♣♣❧② ❛ s✐♠✐❧❛r ❝♦rr❡❝t✐♦♥ t♦ t❤❡ ❧♦❝❛❧✲❝♦♥❝❡♥tr❛t✐♦♥✲❣r❛❞✐❡♥t ❞❡t❡r♠✐♥❛t✐♦♥ ✭t❤❡
❧❛tt❡r ✐s r❡❛❧✐s❡❞ ❜❛s❡❞ ♦♥ ❡q ✷ ❛♥❞ ♥♦t ♦♥ ❡q ✸✮✳ ❨❡t✱ ❛s t❤❡ t❡♠♣❡r❛t✉r❡ ❜♦✉♥❞❛r② ❧❛②❡r ♠✉st ❜❡
t❤✐❝❦❡r t❤❛♥ t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥ ❧❛②❡r ✭t❤❡ ❞✐✛✉s✐♦♥ ❝♦❡✣❝✐❡♥t ✐s s♠❛❧❧❡r t❤❛♥ t❤❡ t❤❡r♠❛❧ ❞✐✛✉s✐✈✲
✐t②✮✱ t❤❡ ❡rr♦r ♦♥ t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥ ❣r❛❞✐❡♥t ♠✉st ❜❡ ❡✈❡♥ s♠❛❧❧❡r t❤❛♥ ♦♥ t❤❡ ❛❜s♦❧✉t❡ ✈❛❧✉❡s ✭✐✳❡✳
❁✺✪✮✳

❋✐♥❛❧❧②✱ ♥♦t❡ t❤❛t ✐t ✐s ♥♦t t❤❡ r❛✇ ♠❡❛s✉r❡♠❡♥ts ❢♦r χσ ✭❛♥❞ Tσ✮ t❤❛t ❛r❡ ✉s❡❞ ✐♥ t❤❡ ♥✉♠❡r✐❝❛❧
s✐♠✉❧❛t✐♦♥s ❞❡s❝r✐❜❡❞ ❜❡❧♦✇ ❜✉t r❛t❤❡r t❤❡ ❢♦❧❧♦✇✐♥❣ s♠♦♦t❤❡❞ r❡s✉❧t ❜❛s❡❞ ♦♥ t❤❡ ✜tt✐♥❣ ❢♦r♠✉❧❛

χσ = α + (0.61− α) eβ(r
γ
−1) , ✭✹✮
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❋✐❣✉r❡ ❙✸✿ ❚❤❡ r♦❧❡ ♦❢ ❝♦rr❡❝t✐♥❣ ❢♦r t❡♠♣❡r❛t✉r❡ ❡✛❡❝ts ✐♥ t❤❡ r❡❢r❛❝t✐✈❡✲✐♥❞❡① ❝♦♥✈❡rs✐♦♥ ♦♥
♠❡❛s✉r❡❞ ✐♥t❡r❢❛❝✐❛❧ ♣r♦✜❧❡s✳

✇❤✐❝❤ r❡❝♦✈❡rs t❤❡ ❛♠❜✐❡♥t t❡♠♣❡r❛t✉r❡ ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡ ✭✐✳❡✳ χσ = 0.61✮ ❛♥❞ ❛t t❤❡ s❛♠❡ t✐♠❡
❝❛♣t✉r❡s r❡❛s♦♥❛❜❧② ✇❡❧❧ t❤❡ ❡①♣❡r✐♠❡♥t❛❧ ❞❛t❛ ✭❝❢✳ t❤❡ s♦❧✐❞ ❧✐♥❡ ✐♥ ❋✐❣✉r❡ ✹ ♦❢ t❤❡ ♠❛✐♥ t❡①t✮✳
❚❤❡ ♦❜t❛✐♥❡❞ ✜tt✐♥❣ ♣❛r❛♠❡t❡rs α, β ❛♥❞ γ ❛r❡ s♣❡❝✐✜❡❞ ❧❛t❡r ♦♥✳

▲♦❝❛❧ ❊✈❛♣♦r❛t✐♦♥ ❘❛t❡ ❉❡t❡r♠✐♥❛t✐♦♥

❋r♦♠ t❤❡ ♥♦r♠❛❧ ♣r♦✜❧❡s✱ t❤❡ ❣r❛❞✐❡♥t ❝❛♥ ♥♦✇ ❜❡ ❡①tr❛❝t❡❞ ❛t t❤❡ ✐♥t❡r❢❛❝❡✳ ❍♦✇❡✈❡r✱ ❛s ❝❡♥tr❛❧
❞✐✛❡r❡♥❝✐♥❣ ❣✐✈❡s ❛ ♥♦✐s② r❡s✉❧t✱ ❛ ❧✐♥❡❛r ✜t ✐s ♣❡r❢♦r♠❡❞ ♦✈❡r ✶✽✺ ➭♠ st❛rt✐♥❣ ❢r♦♠ ✸✺ ➭♠ ❢r♦♠
t❤❡ ✐♥t❡r❢❛❝❡ ❛♥❞ ✐ts ❣r❛❞✐❡♥t ✐s ✉s❡❞✳ ❆♣♣❧②✐♥❣ t❤❡ ❢♦❧❧♦✇✐♥❣ ❢♦r♠✉❧❛ t❤❡♥ ②✐❡❧❞s t❤❡ ❞✐str✐❜✉t✐♦♥
♦❢ t❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ Jl,Exp ❛❧♦♥❣ t❤❡ ❞r♦♣❧❡t ✐♥t❡r❢❛❝❡✿

Jl,Exp = − MvPtotDv

RT (1− χσ)

∂χ

∂n

∣

∣

∣

∣

σ

✭✺✮

✇✐t❤ Mv t❤❡ ♠♦❧❛r ✇❡✐❣❤t ♦❢ t❤❡ ✈❛♣♦✉r ✭0.2 kg/mol✮✱ Ptot t❤❡ t♦t❛❧ ✭❛t♠♦s♣❤❡r✐❝✮ ♣r❡ss✉r❡✱ Dv t❤❡
❞✐✛✉s✐♦♥ ❝♦❡✣❝✐❡♥t ♦❢ t❤❡ ✈❛♣♦✉r✕❛✐r ♠✐①t✉r❡ ✭8.11× 10−6 m2/s✮ ♦❜t❛✐♥❡❞ ❜② ✐♥❞❡♣❡♥❞❡♥t ❙t❡❢❛♥✲
t✉❜❡ ❡①♣❡r✐♠❡♥ts✱ R t❤❡ ✉♥✐✈❡rs❛❧ ❣❛s ❝♦♥st❛♥t ✭8.31 J/molK✮✱ T t❤❡ t❡♠♣❡r❛t✉r❡✱ χσ t❤❡ ♠♦❧❡
❢r❛❝t✐♦♥ ❛t t❤❡ ✐♥t❡r❢❛❝❡ ✭s❡❡ ❛❜♦✈❡✮ ❛♥❞ ∂χ

∂n

∣

∣

σ
t❤❡ ♥♦r♠❛❧ ♠♦❧❡✲❢r❛❝t✐♦♥ ❣r❛❞✐❡♥t ❛t t❤❡ ✐♥t❡r❢❛❝❡✳

❆s s♣❛t✐❛❧ ✈❛r✐❛t✐♦♥s ♦❢ t❤❡ ❣❛s ♣r❡ss✉r❡ ❛r❡ ❡①♣❡❝t❡❞ t♦ ❜❡ t❤❡r♠♦❞②♥❛♠✐❝❛❧❧② ♥❡❣❧✐❣✐❜❧❡✱ ✇❡ t❛❦❡
Ptot = Pamb✳ ❖♥ t❤❡ ♦t❤❡r ❤❛♥❞✱ ❣✐✈❡♥ t❤❛t t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣ ❡✛❡❝t ✐s ❛♥②✇❛② ♥♦t t❛❦❡♥ ✐♥t♦
❛❝❝♦✉♥t ❡✳❣✳ ✐♥ t❤❡ r❡❢r❛❝t✐✈❡✲✐♥❞❡① ❝❛❧✐❜r❛t✐♦♥ ❛✇❛② ❢r♦♠ t❤❡ ✐♥t❡r❢❛❝❡✱ ✐t ✐s ❝♦♥s✐st❡♥t t♦ s❡t
T = Tamb ✐♥ ❡q ✺ t♦♦ ❛♥❞ t♦ ❡✈❛❧✉❛t❡ Dv ❥✉st ❛t Tamb✳ ■♥ t❤✐s ✇❛②✱ ✇❡ r❡❝♦✈❡r ❡q ✸ ♦❢ t❤❡ ♠❛✐♥
t❡①t✳

❙✻



●❧♦❜❛❧ ❊✈❛♣♦r❛t✐♦♥ ❘❛t❡s

❉❡t❡r♠✐♥❛t✐♦♥ ❢r♦♠ ■♥t❡r❢❛❝✐❛❧ ●r❛❞✐❡♥ts

❆♥♦t❤❡r q✉❛♥t✐t② t❤❛t ❝❛♥ ❜❡ ❡①tr❛❝t❡❞ ❢r♦♠ t❤❡ ✈❛♣♦✉r ✐♥t❡r❢❡r♦♠❡t❡r ✐s t❤❡ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥
r❛t❡ ♦❢ t❤❡ ❞r♦♣✳ ❚❤❡r❡ ❛r❡ s❡✈❡r❛❧ ✇❛②s ✐♥ ✇❤✐❝❤ t❤✐s ❝❛♥ ❜❡ ❛❝❝♦♠♣❧✐s❤❡❞✳ ❚❤❡ ❡❛s✐❡st ♦♥❡ ✐s
t♦ ✐♥t❡❣r❛t❡ t❤❡ ♦❜t❛✐♥❡❞ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡s Jl,Exp ♦✈❡r t❤❡ s✉r❢❛❝❡ ♦❢ t❤❡ ❞r♦♣✳ ❚❤✉s✱ t❤❡
❢♦❧❧♦✇✐♥❣ ✐♥t❡❣r❛t✐♦♥ ✐s ♣❡r❢♦r♠❡❞ ✇✐t❤ h′ t❤❡ r❛❞✐❛❧ ❞❡r✐✈❛t✐✈❡ ♦❢ t❤❡ ❧♦❝❛❧ t❤✐❝❦♥❡ss ♦❢ t❤❡ ❞r♦♣
❛♥❞ Rc ✐ts ❝♦♥t❛❝t r❛❞✐✉s✿

Jg,surf =

ˆ Rc

0

2πr
√
1 + h′2Jl,Expdr , ✭✻✮

✇❤❡r❡ ❛❧❧ ✈❛r✐❛❜❧❡s ❛r❡ ❞✐♠❡♥s✐♦♥❛❧✳

❉❡t❡r♠✐♥❛t✐♦♥ ❢r♦♠ ■s♦✲❈♦♥❝❡♥tr❛t✐♦♥ ▲✐♥❡s

❆s t❤❡ ♥♦r♠❛❧ ❣r❛❞✐❡♥t ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡ ✐s ❡✈❡♥t✉❛❧❧② ✐♥✜♥✐t❡ ❛♥❞ ❜❡❝❛✉s❡ t❤❡ ♣r♦✜❧❡ ✜tt✐♥❣ ♦❢
t❤❡ ❞r♦♣ ✐s s✉❜❥❡❝t t♦ s♦♠❡ ✉♥❝❡rt❛✐♥t②✱ ❛ s❡❝♦♥❞ ♠❡t❤♦❞✱ ✉s✐♥❣ t❤❡ ✐s♦✲❝♦♥❝❡♥tr❛t✐♦♥ ❧✐♥❡s✱ ✇❛s
❛❧s♦ ❞❡✈❡❧♦♣❡❞ t♦ ❛✈♦✐❞ t❤✐s s♦✉r❝❡ ♦❢ ✐♠♣r❡❝✐s✐♦♥✳

❚❤❡ ✈❛♣♦✉r ♠♦❧❡ ✢✉① ~j∗v [mol/m2s] ❛t ❛♥② ♣♦✐♥t ✐♥ t❤❡ ❣❛s ✐s r❡❧❛t❡❞ t♦ t❤❡ t♦t❛❧ ♠♦❧❡ ✢✉① ~j∗

❜②
~j∗v = χ~j∗ − ngDv

~∇χ , ✭✼✮

✇✐t❤ ng =
Pamb

RTamb

t❤❡ ❣❛s ♠♦❧❡ ❞❡♥s✐t② ❛♥❞ t❤❡ ❛st❡r✐s❦ s❡r✈✐♥❣ t♦ ❞✐st✐♥❣✉✐s❤ t❤❡ ♠♦❧❡ ✢✉①❡s ❢r♦♠

t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣ ♠❛ss ♦♥❡s ✭t❤❡ ❧❛tt❡r ✇✐t❤♦✉t ❛st❡r✐s❦✮✳ ❆t t❤❡ ❞r♦♣❧❡t ✐♥t❡r❢❛❝❡✱ ♥❡❣❧❡❝t✐♥❣ ❛✐r
❛❜s♦r♣t✐♦♥ ✭✐✳❡✳ ♥♦ ❛✐r ✢✉①✮ ❛s ✇❡❧❧ ❛s t❤❡ ✐♥t❡r❢❛❝❡ ❞✐❣r❡ss✐♦♥ ✈❡❧♦❝✐t② ✈❡rs✉s t❤❡ ❣❛s ✈❡❧♦❝✐t②✱ ✇❡
❤❛✈❡

~j∗v · ~n
∣

∣

∣

σ
= ~j∗ · ~n

∣

∣

∣

σ
= Jl/Mv , ✭✽✮

❢r♦♠ ✇❤❡r❡ ❡q ✸ ♦❢ t❤❡ ♠❛✐♥ t❡①t ❝❛♥ ❜❡ r❡❝♦✈❡r❡❞ ♦♥ ❛❝❝♦✉♥t ♦❢ ❡q ✼✳ ❍❡r❡❛❢t❡r ~n ✐s t❤❡ ❡①t❡r♥❛❧
✭♣♦✐♥t✐♥❣ ❛✇❛② ❢r♦♠ t❤❡ ❞r♦♣❧❡t✮ ✉♥✐t ♥♦r♠❛❧ t♦ ❛ s✉r❢❛❝❡ ❝♦♥s✐❞❡r❡❞✳

❚❤❡ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ ✢✉① ❢r♦♠ t❤❡ ❞r♦♣❧❡t ❝❛♥ ❜❡ ❝❛❧❝✉❧❛t❡❞ ❛s

J∗

g =

ˆ

~j∗v · ~n dS =

ˆ

~j∗ · ~n dS , ✭✾✮

✇❤❡r❡ t❤❡ ✐♥t❡❣r❛t✐♦♥ ❝❛♥ ❜❡ ♣❡r❢♦r♠❡❞ ♦✈❡r ❛♥② s✉r❢❛❝❡ ❡♥❝♦♠♣❛ss✐♥❣ t❤❡ ❞r♦♣❧❡t ❛♥❞ ❡♥❞✐♥❣ ♦♥
t❤❡ s✉❜str❛t❡✳ ❚❤❡ s❡❝♦♥❞ ❡q✉❛❧✐t② ♦❢ ❡q ✾ ❢♦❧❧♦✇s ❢r♦♠ ♥❡❣❧❡❝t✐♥❣ t❤❡ s❛♠❡ ❢❛❝t♦rs ❛s ❢♦r ❡q ✽ ❛♥❞
✐♥ ❛❞❞✐t✐♦♥ ❛ss✉♠✐♥❣ q✉❛s✐✲st❛t✐♦♥❛r✐t② ♦❢ t❤❡ ♠♦❧❡✲❢r❛❝t✐♦♥ ✜❡❧❞✱ ❛❧❧ ✇❤✐❝❤ ♠❡❛♥s t❤❛t t❤❡ ❛♠♦✉♥t
♦❢ ❛✐r r❡♠❛✐♥s ✉♥❝❤❛♥❣❡❞ ✐♥ t❤❡ ❡♥❝♦♠♣❛ss❡❞ r❡❣✐♦♥✳ ◆♦t❡ t❤❛t t❤✐s ✐♥t❡❣r❛❧ ❡q✉❛❧✐t② t❛❦❡s ♣❧❛❝❡
✐♥ s♣✐t❡ ♦❢ ❣❡♥❡r❛❧❧② ~j∗v · ~n 6= ~j∗ · ~n✳ ❖❜✈✐♦✉s❧②✱ t❤❡ ❞r♦♣❧❡t ✐♥t❡r❢❛❝❡ ✐ts❡❧❢ ❝❛♥ ✐♥ ♣❛rt✐❝✉❧❛r ❜❡ ✉s❡❞
✐♥ ❡q ✾✱ ✇❤✐❝❤ t❤❡♥ ❝♦✐♥❝✐❞❡s ✇✐t❤ ❡q ✹ ♦❢ t❤❡ ♠❛✐♥ t❡①t ♦♥ ❛❝❝♦✉♥t ♦❢ ❡q ✽ ❛♥❞ J∗

g = Jg/Mv✳

❖t❤❡r✇✐s❡✱ ❡q ✾ ❞♦❡s ♥♦t s❡❡♠ t♦ ❜❡ ✈❡r② ♣r❛❝t✐❝❛❧✱ ❛s t❤❡r❡ ✐s ♥♦ ✇❛② t♦ ✐♥❢❡r ~j∗v ♦r ~j∗ ❢r♦♠ t❤❡
♠❡❛s✉r❡❞ ♠♦❧❡✲❢r❛❝t✐♦♥ ✜❡❧❞ ✭❡q ✼ ✐s ♥♦t ❡♥♦✉❣❤ t♦ t❤✐s ♣✉r♣♦s❡✮ ✇✐t❤♦✉t s✐♠✉❧t❛♥❡♦✉s❧② ♠❡❛s✉r✐♥❣
t❤❡ ✈❡❧♦❝✐t② ✜❡❧❞✱ ✇❤✐❝❤ ✇❡ ❞♦ ♥♦t ❞♦ ❤❡r❡✳ ❍♦✇❡✈❡r✱ ✐❢ t❤❡ ✐♥t❡❣r❛t✐♦♥ ✐♥ ❡q ✾ ✐s ♣❡r❢♦r♠❡❞ ♦✈❡r
❛♥ ✐s♦✲❝♦♥❝❡♥tr❛t✐♦♥ s✉r❢❛❝❡✱ χ = const✱ ❢✉rt❤❡r ♣r♦❣r❡ss ❝❛♥ ❜❡ ♠❛❞❡ ❥✉st ✇✐t❤ ✇❤❛t ✇❡ ❛❧r❡❛❞②

❙✼



❤❛✈❡✳ ■♥❞❡❡❞✱ ✉s✐♥❣ ❡q ✼ ✐♥ ❡q ✾ ❛♥❞ t❛❦✐♥❣ χ = const ♦✉t ♦❢ t❤❡ ✐♥t❡❣r❛❧✱ ♦♥❡ ❝❛♥ ❞❡❞✉❝❡

J∗

g = χJ∗

g −

ˆ

χ=const

ngDv
∂χ

∂n
dS , ✭✶✵✮

✇❤✐❝❤ ♦♥ ❛❝❝♦✉♥t ♦❢ ng =
Pamb

RTamb

❛♥❞ J∗

g = Jg/Mv ②✐❡❧❞s ❡q ✺ ♦❢ t❤❡ ♠❛✐♥ t❡①t✳
❚❤✉s✱ t❤❡ ✐♥t❡❣r❛t✐♦♥ ♦✈❡r t❤❡ ✐s♦❝♦♥t♦✉rs ♣r♦✈✐❞❡s ②❡t ❛♥♦t❤❡r ♠❡t❤♦❞ ❢♦r t❤❡ ❞❡t❡r♠✐♥❛t✐♦♥

♦❢ t❤❡ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ Jg ❥✉st ♦♥ t❤❡ ❜❛s✐s ♦❢ t❤❡ ♠❡❛s✉r❡❞ ♠♦❧❡✲❢r❛❝t✐♦♥ ✜❡❧❞✳ ❚❤❡ r❡s✉❧t
✐s ❞❡♥♦t❡❞ ❛s Jg,iso✱ ❛s ❛❧r❡❛❞② ♠❡♥t✐♦♥❡❞ ✐♥ t❤❡ ♠❛✐♥ t❡①t✳

❋✐❣✉r❡ ❙✹✿ ●❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ✈❡rs✉s ✐s♦✲❝♦♥❝❡♥tr❛t✐♦♥ ✈❛❧✉❡s ❛❧♦♥❣ ✇❤✐❝❤ ✐t ✐s ❝❛❧❝✉❧❛t❡❞ ❜②
♠❡❛♥s ♦❢ ❡q ✶✵✳

❚❤❡ ❛❞✈❛♥t❛❣❡ ♦❢ t❤✐s s❡❝♦♥❞ ♠❡t❤♦❞ ✐s ❝❧❡❛r❧② t❤❡ ❢❛❝t t❤❛t t❤❡ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ❝❛♥ ❜❡
♦❜t❛✐♥❡❞ ♦♥ ❛♥② ✐s♦❝♦♥t♦✉r✱ ✇❤✐❝❤ ♣❡r♠✐ts t♦ ❛✈❡r❛❣❡ t❤❡ ♠❡❛s✉r❡♠❡♥t ♦✈❡r ♠✉❧t✐♣❧❡ ✐s♦❝♦♥t♦✉rs
t♦ ❣❡t ❛ ♠♦r❡ ❛❝❝✉r❛t❡ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡✱ ❛s ✇❡❧❧ ❛s t♦ ❡st✐♠❛t❡ ✇❤❛t ✐s t❤❡ ❛❝❝✉r❛❝② ♦❢ t❤❡
♠❡❛s✉r❡♠❡♥t✳ ◆♦t❡ t❤❛t t❤❡ ❛ss✉♠♣t✐♦♥ ♦❢ ❛ q✉❛s✐✲st❛t✐♦♥❛r② ❝♦♥❝❡♥tr❛t✐♦♥ ✜❡❧❞ ❝♦✉❧❞ ♣♦s❡ ❛
♣r♦❜❧❡♠ ✐♥ s♦♠❡ ❝❛s❡s✳ ■♥ ❋✐❣✉r❡ ❙✹✱ t❤❡ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ Jg,iso ❝❛❧❝✉❧❛t❡❞ ✐♥ t❤✐s ✇❛② ✐s
s❤♦✇♥ ✈❡rs✉s t❤❡ ♠♦❧❡ ❢r❛❝t✐♦♥ χ ♦❢ t❤❡ ✐s♦❝♦♥t♦✉r✳ ❚❤✐s s❤♦✇s t❤❛t ✐t ✐s r❡❧❛t✐✈❡❧② ❝♦♥st❛♥t ❢♦r χ
❜❡t✇❡❡♥ ✵✳✷✺ ❛♥❞ ✵✳✸✺✳ ■♥❞❡❡❞✱ ❝❤❡❝❦✐♥❣ t❤❡ ✐s♦✲❝♦♥❝❡♥tr❛t✐♦♥ ❧✐♥❡s ✐♥ ❛ tr❡❛t❡❞ ✐♠❛❣❡✱ ❝♦♥t♦✉rs ❢♦r
❧♦✇❡r χ t❡♥❞ t♦ ❜❡❝♦♠❡ ❡rr❛t✐❝ ✭❞✉❡ t♦ ♥♦✐s❡✮✱ ✇❤❡r❡❛s ❧❛r❣❡r χ t❡♥❞ ♥♦t t♦ ❡♥❝♦♠♣❛ss t❤❡ ❡♥t✐r❡
❞r♦♣❧❡t ✐♥t❡r❢❛❝❡ ✭❞✉❡ t♦ t❤❡ ✐♥t❡r❢❛❝❡ ❝♦♦❧✐♥❣ ❛♥❞ t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣ ❞❡❝r❡❛s❡ ♦❢ t❤❡ ✐♥t❡r❢❛❝✐❛❧
♠♦❧❡ ❢r❛❝t✐♦♥✮✳ ◆♦t❡ t❤❛t t❤❡ ✉♥❝❡rt❛✐♥t② ✭✾✺✪ ❝♦♥✜❞❡♥❝❡ ✐♥t❡r✈❛❧✮ ♦♥ t❤❡ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡
❜❛s❡❞ ♦♥ ❛ s✐♥❣❧❡ ✐♥st❛♥t❛♥❡♦✉s ✐♠❛❣❡ ✐♥ t❤✐s r❛♥❣❡ ✭❢♦r χ ❜❡t✇❡❡♥ ✵✳✷✺ t♦ ✵✳✸✺✮ ✐s ♦♥❧② ±6✪✳
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❇✳ P❡r❢♦r♠❛♥❝❡ ♦❢ t❤❡ ■♥✈❡rs❡ ❆❜❡❧ ❚r❛♥s❢♦r♠ ✐♥ t❤❡ Pr❡s❡♥❝❡

♦❢ ❙✐♥❣✉❧❛r✐t✐❡s

■♥ t❤❡ ❝❛s❡ ♦❢ ❛ ♣✉r❡❧② ❞✐✛✉s✐♦♥✲❧✐♠✐t❡❞ ❡✈❛♣♦r❛t✐♦♥ r❡❣✐♠❡✱ t❤❡♦r② ♣r❡❞✐❝ts t❤❛t t❤❡ ♠♦❧❡ ❢r❛❝✲
t✐♦♥ ✜❡❧❞ ✐s ♥♦♥✲❞✐✛❡r❡♥t✐❛❜❧❡ ♥❡❛r t❤❡ ❝♦♥t❛❝t ❧✐♥❡ ✭❜✉t r❡♠❛✐♥s ❝♦♥t✐♥✉♦✉s✮✳ ■♥ ♦r❞❡r t♦ ❛ss❡ss
✇❤❡t❤❡r t❤❡ ✐♥✈❡rs❡ ❆❜❡❧ tr❛♥s❢♦r♠ ✐s ❝❛♣❛❜❧❡ ♦❢ ❝♦rr❡❝t❧② r❡❝♦♥str✉❝t✐♥❣ s✉❝❤ ❛ ✜❡❧❞✱ ❛ ♥✉♠❡r✐❝❛❧
❡①♣❡r✐♠❡♥t ✇❛s ♣❡r❢♦r♠❡❞✳ ❋r♦♠ t❤❡♦r②❙✻✱ t❤❡ ❢♦❧❧♦✇✐♥❣ ❛♥❛❧②t✐❝❛❧ ❢♦r♠✉❧❛ ❢♦r t❤❡ ♠♦❧❡✲❢r❛❝t✐♦♥
✜❡❧❞ χ ❝❛♥ ❜❡ ♦❜t❛✐♥❡❞ ✐♥ t❤❡ ❧✐♠✐t ♦❢ ♣✉r❡ ❞✐✛✉s✐♦♥ ❢♦r ❛ ✢❛tt❡♥❡❞ ❞r♦♣ ✇✐t❤ ❛ ❣✐✈❡♥ ❝♦♥st❛♥t
✐♥t❡r❢❛❝✐❛❧ ♠♦❧❡ ❢r❛❝t✐♦♥ χσ✿

χ(r, z) =
2χσ

π









π

2
− arctan









√

√

√

√

√

(1− z2 − r2)2 + 4z2 − (1− z2 − r2)

2

















. ✭✶✶✮

❚❤❡ ♥❡①t st❡♣ ✐s t♦ tr❛♥s❢♦r♠ t❤✐s ♠♦❧❡✲❢r❛❝t✐♦♥ ✜❡❧❞ ✐♥t♦ ❛ s✐♠✉❧❛t❡❞ ✐♥t❡r❢❡r♦♠❡tr✐❝ ✐♠❛❣❡✳
❚♦ t❤✐s ❡♥❞✱ ✐t ✐s ♠✉❧t✐♣❧✐❡❞ ❜② nHFE − nair t♦ ❝♦♥✈❡rt ✐t ✐♥t♦ t❤❡ ❧♦❝❛❧ r❡❢r❛❝t✐✈❡ ✐♥❞❡① ✭s❡❡ ❡q ✷✮
❛♥❞ ✐t ✐s t❤❡♥ ✐♥t❡❣r❛t❡❞ ❛❧♦♥❣ ❛ ❧✐♥❡ ♦❢ s✐❣❤t ✭✐♥ ②✲❞✐r❡❝t✐♦♥✮ ❛♥❞ ❝♦♥✈❡rt❡❞ ✐♥t♦ ❛ ♣❤❛s❡ ❞❡❧❛② ∆φ✳
◆♦t❡ t❤❛t ❛♥ ❛rt✐✜❝✐❛❧❧② ❧❛r❣❡ ❜✉t ✜♥✐t❡ ❝✉t✲♦✛ ✈❛❧✉❡ yc ✇❛s ✉s❡❞ ❛s t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥ ✜❡❧❞ ❞❡❝❛②s
✭t♦♦✮ s❧♦✇❧② ❢♦r t❤❡ ❆❜❡❧ tr❛♥s❢♦r♠✳ ❚❤❡ ❝❤♦✐❝❡ ♦❢ t❤✐s ❝✉t✲♦✛ ✈❛❧✉❡ ✇❛s s❤♦✇♥ t♦ ♥♦t ✐♥✢✉❡♥❝❡
t❤❡ ♣r❡s❡♥t❡❞ r❡s✉❧ts✳ ❚❤✐s ✐s ♦❜t❛✐♥❡❞ t❤r♦✉❣❤ t❤❡ ❢♦❧❧♦✇✐♥❣ ❢♦r♠✉❧❛✿

∆φ =
4π

λ

yc
ˆ

−yc

χ (nHFE − nair) dy . ✭✶✷✮

❚❤❡ ❝♦s✐♥❡ ♦❢ t❤✐s ♣❤❛s❡ ✜❡❧❞ ✐s t❤❡♥ s❤♦✇♥ ✐♥ t❤❡ ✐♥s❡t ♦❢ ❋✐❣✉r❡ ❙✺✳ ❚❤✐s ♣❤❛s❡ ✐♠❛❣❡ ✐s t❤❡♥
s✉❜❥❡❝t❡❞ t♦ ❛♥ ✐♥✈❡rs❡ ❆❜❡❧ tr❛♥s❢♦r♠ tr❡❛t♠❡♥t s✐♠✐❧❛r t♦ t❤❡ ♦♥❡ ✉s❡❞ ❢♦r t❤❡ ❡①♣❡r✐♠❡♥t❛❧
✐♠❛❣❡s✳ ❚❤❡ ❡①tr❛❝t❡❞ ♠♦❧❡ ❢r❛❝t✐♦♥ ❛❧♦♥❣ ❛ ✈❡rt✐❝❛❧ ❧✐♥❡ st❛rt✐♥❣ ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡ ✐s ❝♦♠♣❛r❡❞
t♦ t❤❡ ♦r✐❣✐♥❛❧ t❤❡♦r❡t✐❝❛❧ r❡s✉❧t ✐♥ ❋✐❣✉r❡ ❙✺✳ ❚❤✐s s❤♦✇s t❤❛t t❤❡ r❡❝♦♥str✉❝t✐♦♥ ✐s ❛❝❝✉r❛t❡ ♦✈❡r
t❤❡ ♠❛✐♥ ♣♦rt✐♦♥ ♦❢ t❤❡ ✜❡❧❞✳ ❍♦✇❡✈❡r✱ ❝❧♦s❡ t♦ t❤❡ ✐♥t❡r❢❛❝❡✱ t❤❡ ❣r❛❞✐❡♥t ❜❡❝♦♠❡s t♦♦ ❧❛r❣❡ ❛♥❞
❛♥ ✉♥❞❡r♣r❡❞✐❝t✐♦♥ ♦❢ ❜♦t❤ t❤❡ ✐♥t❡r❢❛❝✐❛❧ ❝♦♥❝❡♥tr❛t✐♦♥ ❛♥❞ t❤❡ ✐♥t❡r❢❛❝✐❛❧ ❣r❛❞✐❡♥t ✐s ❛♥ ✐♥❡✈✐t❛❜❧❡
r❡s✉❧t✳ ◆♦t❡ t❤❛t ✉♥❢♦rt✉♥❛t❡❧② ❡①❛❝t❧② t❤❡ s❛♠❡ ✐♥✈❡rs✐♦♥ ❛❧❣♦r✐t❤♠ ❛s ✐♥ t❤❡ ❡①♣❡r✐♠❡♥t ❝♦✉❧❞
♥♦t ❜❡ ✉s❡❞ ❤❡r❡ ❛s t❤❡ ❊P✲♠❡t❤♦❞ ❞♦❡s ♥♦t ✇♦r❦ ❢♦r t❤❡ ✐♥✈❡rs✐♦♥ ♦❢ ♣❤❛s❡ ✐♠❛❣❡s t❤❛t ❞♦ ♥♦t
❞r♦♣ s♠♦♦t❤❧② t♦ ③❡r♦ ❛t t❤❡ ❡❞❣❡ ♦❢ t❤❡ ✐♠❛❣❡✳ ❆s ❛ r❡s✉❧t✱ t❤❡ ▼❋❍ ❛❧❣♦r✐t❤♠❙✷ ✇❛s ✉s❡❞ ❛s ❛
♠♦❞❡❧ ❛❧❣♦r✐t❤♠ ❤❡r❡✳ ❚❤❡ ❡✛❡❝t ✐s ❡①♣❡❝t❡❞ t♦ ❜❡ s✐♠✐❧❛r ❢♦r t❤❡ ❊P ♠❡t❤♦❞✱ ❛s ❜♦t❤ ❛❧❣♦r✐t❤♠s
❣✐✈❡ s✐♠✐❧❛r ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡s ❛♥❞ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡s ✇❤❡♥ ❛♣♣❧✐❡❞ t♦ t❤❡ ❡①♣❡r✐♠❡♥t❛❧
r❡s✉❧ts✳

❙♦✱ ❢r♦♠ t❤❡ ❢✉♥❞❛♠❡♥t❛❧ ♣♦✐♥t ♦❢ ✈✐❡✇✱ ♠❛♥② ❆❜❡❧ ✐♥✈❡rs✐♦♥ ❛❧❣♦r✐t❤♠s ✭s✉❝❤ ❛s t❤❡ ♦♥❡s ✇❡
❤❛✈❡ ✉s❡❞✮ ❛r❡ ♥♦t ❝❛♣❛❜❧❡ ♦❢ r❡t✉r♥✐♥❣ ❛♥ ✐♥✜♥✐t❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡✳ ❖♥
t♦♣ ♦❢ t❤✐s t❤❡r❡ ✐s ❛❧s♦ t❤❡ ❛❞❞✐t✐♦♥❛❧ s♠♦♦t❤✐♥❣ ❞❡s❝r✐❜❡❞ ❛❜♦✈❡✱ ✇❤❡r❡ ❛ ❧♦❝❛❧ ✜tt✐♥❣ ❝❧♦s❡ t♦
t❤❡ ✐♥t❡r❢❛❝❡ ✐s ❡①tr❛♣♦❧❛t❡❞ t♦ ♦❜t❛✐♥ ❛ s♠♦♦t❤❡r ✈❛❧✉❡ ♦❢ t❤❡ ❣r❛❞✐❡♥t ❛t t❤❡ ❞r♦♣❧❡t ✐♥t❡r❢❛❝❡✳
◆❡❡❞❧❡ss t♦ s❛② t❤❛t t❤✐s s♠♦♦t❤✐♥❣ ❛❧s♦ ♣r❡✈❡♥ts ♦❜t❛✐♥✐♥❣ ❛♥ ✐♥✜♥✐t❡ ❝♦♥❝❡♥tr❛t✐♦♥ ❣r❛❞✐❡♥t ❛t
t❤❡ ❝♦♥t❛❝t ❧✐♥❡✳
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❋✐❣✉r❡ ❙✺✿ ❙✐♠✉❧❛t❡❞ ♣❤❛s❡ ✐♠❛❣❡ ❛♥❞ r❡❝♦♥str✉❝t❡❞ ♠♦❧❡✲❢r❛❝t✐♦♥ ♣r♦✜❧❡s✳

❈✳ ▼♦r❡ ❉❡t❛✐❧s ♦♥ t❤❡ ◆✉♠❡r✐❝❛❧ ❙✐♠✉❧❛t✐♦♥s

P✉r❡✲❉✐✛✉s✐♦♥ ❘❡❢❡r❡♥❝❡ ❈❛s❡

❚♦ ❝♦♠♣❛r❡ t❤❡ ♠❡❛s✉r❡❞ ✈❛♣♦✉r ❝❧♦✉❞ s❤❛♣❡ ❛♥❞ t❤❡ ♠❡❛s✉r❡❞ ❧♦❝❛❧ ❛♥❞ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡s
t♦ t❤❡ ♣✉r❡❧②✲❞✐✛✉s✐✈❡ r❡❢❡r❡♥❝❡ ❝❛s❡✱ ❛♥ ❛①✐s②♠♠❡tr✐❝ ♥✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥ ✐s ♣❡r❢♦r♠❡❞ ✇✐t❤
❖♣❡♥❋❖❆▼ ✷✳✶ ✭♠♦r❡ s♣❡❝✐✜❝❛❧❧② ▲❛♣❧❛❝✐❛♥❋♦❛♠✮ ❢♦r s♦❧✈✐♥❣ ∇2χ = 0✳ ❋♦r t❤❡ ❝♦♠♣✉t❛t✐♦♥❛❧
❞♦♠❛✐♥✱ ❛♥ ❛r❝ ♦❢ ❛ ❝✐r❝❧❡ ✜tt❡❞ t♦ t❤❡ ❡①♣❡r✐♠❡♥t❛❧ ❞r♦♣ ❝♦♥t♦✉r ✐s ✉s❡❞ ❛s ❛ ❝♦♥st❛♥t✲♠♦❧❡✲❢r❛❝t✐♦♥
❜♦✉♥❞❛r② ♦♥ ✇❤✐❝❤ χ = χσ = Psat (Tsat) /Pamb = 0.61✱ ✇❤✐❧❡ ❛ ❝✐r❝✉❧❛r ❞♦♠❛✐♥ ✶✵ t✐♠❡s ❧❛r❣❡r t❤❛♥
t❤❡ ❞r♦♣ ❝♦♥t❛❝t r❛❞✐✉s ✐s ✉s❡❞ ❛s ❛♥ ❡①t❡r♥❛❧ ❜♦✉♥❞❛r②✱ ♦♥ ✇❤✐❝❤ χ = 0 ✐s ✐♠♣♦s❡❞ ✭♥♦ ✈❛♣♦✉r
✐♥ ❛♠❜✐❡♥t✮✳ ❆ ❧✐♥❡❛r ❣r✐❞ r❡✜♥❡♠❡♥t ✐s ❛♣♣❧✐❡❞ ✐♥ ❜♦t❤ t❤❡ r❛❞✐❛❧ ❛♥❞ ✈❡rt✐❝❛❧ ❞✐r❡❝t✐♦♥s ✐♥ ♦r❞❡r
t♦ ❜❡tt❡r r❡s♦❧✈❡ t❤❡ ♥❡❛r✲❝♦♥t❛❝t✲❧✐♥❡ r❡❣✐♦♥✳ ❚❤✐s t✉r♥s ♦✉t ♥♦t t♦ ❜❡ ❡♥♦✉❣❤ t♦ ♣r♦♣❡r❧② r❡s♦❧✈❡
t❤❡ s✐♥❣✉❧❛r✐t② ♦❢ t❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡ t❤♦✉❣❤✱ ❜✉t ❛s t❤✐s s✐♠✉❧❛t✐♦♥ ✐s
♦♥❧② ✉s❡❞ ❢♦r ♣❧♦tt✐♥❣ t❤❡ ♦✈❡r❛❧❧ ✈❛♣♦✉r ❝❧♦✉❞ ❝♦♥✜❣✉r❛t✐♦♥✱ t❤❡ ✐ss✉❡ ✐s ♥♦t ♣✉s❤❡❞ ❢✉rt❤❡r✳

❋♦r♠✉❧❛s ❢♦✉♥❞ ✐♥ t❤❡ ❧✐t❡r❛t✉r❡❙✻ ❛r❡ r❛t❤❡r ✉s❡❞ ❢♦r ♣❧♦tt✐♥❣ t❤❡ ❧♦❝❛❧ ❛♥❞ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥
r❛t❡s✳ ❆s ♥♦ ❛❣r❡❡♠❡♥t ✐s ❡①♣❡❝t❡❞ ❛♥②✇❛② ✇✐t❤ t❤❡ ♣✉r❡✲❞✐✛✉s✐♦♥ r❡❣✐♠❡ ❢♦r t❤❡ ♣r❡s❡♥t ❡①♣❡r✲
✐♠❡♥ts✱ ❛♥❞ ❛s ✇❡ ❛r❡ ♠❡r❡❧② ✐♥t❡r❡st❡❞ ✐♥ ❝♦♥tr❛st✐♥❣ t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣ r❡s✉❧ts✱ ✇❡ s❤❛❧❧ ❧✐♠✐t
♦✉rs❡❧✈❡s t♦ t❤❡ ✢❛tt❡♥❡❞✲❞r♦♣ ❢♦r♠✉❧❛s✳ ❋♦r t❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ Jl,D ❛s ❛ ❢✉♥❝t✐♦♥ ♦❢ t❤❡
✭❞✐♠❡♥s✐♦♥❛❧✮ r❛❞✐❛❧ ❝♦♦r❞✐♥❛t❡ r✱ ✇❡ ❤❛✈❡❙✻

Jl,D(r) =
2Dvρv,σ

π
√

R2
c − r2

. ✭✶✸✮

❍❡r❡✱ Dv ✐s t❤❡ ❞✐✛✉s✐♦♥ ❝♦❡✣❝✐❡♥t ♦❢ t❤❡ ✈❛♣♦✉r ✐♥ ❛✐r✱ Rc ✐s t❤❡ ❝♦♥t❛❝t r❛❞✐✉s ♦❢ t❤❡ ❞r♦♣ ❛♥❞
ρv,σ = Pamb

RTamb

Mvχσ ✐s t❤❡ ✈❛♣♦✉r ❞❡♥s✐t② ❛t t❤❡ ✐♥t❡r❢❛❝❡✱ ❛ss✉♠❡❞ ❝♦♥st❛♥t ✇❤❡♥ ❞❡r✐✈✐♥❣ ❡q ✶✸✳ ■t
✐s ✐♠♣♦rt❛♥t t♦ str❡ss t❤❛t ❡q ✶✸ ✐s ♦❜t❛✐♥❡❞ ✉♥❞❡r t❤❡ ❛ss✉♠♣t✐♦♥ t❤❛t t❤❡ ✈❛♣♦✉r ❢r❛❝t✐♦♥ ✐s s♠❛❧❧
❛♥❞ t❤❡r❡❢♦r❡ t❤❡ ❝♦♥✈❡❝t✐✈❡ ❡✛❡❝t ♦❢ ❙t❡❢❛♥ ✢♦✇ ❝❛♥ ❜❡ ♥❡❣❧❡❝t❡❞✳ ❚❤✐s ✐s ❛❧s♦ ❞♦♥❡ t❛❝✐t❧② ✐♥ t❤❡

❙✶✵



♠❡♥t✐♦♥❡❞ ♥✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥ ❛s ∇2χ = 0 ✐s ♦♥❧② ✈❛❧✐❞ ✇❤❡♥ ♥♦ s✉❝❤ ❝♦♥✈❡❝t✐✈❡ ❝♦♥tr✐❜✉t✐♦♥ ✐s
✐♥✈♦❧✈❡❞✳ ❍♦✇❡✈❡r✱ ✐♥ ♦✉r ♣r❡s❡♥t s❡t✉♣✱ ✐t ✐s ❜② ♥♦ ♠❡❛♥s ♥❡❣❧✐❣✐❜❧❡ ❛s t❤❡ ♠♦❧❡ ❢r❛❝t✐♦♥s ❛r❡ ♦❢
t❤❡ ♦r❞❡r ♦❢ ✻✵✪✳ ❚❤✐s ❤❛s ♥♦t ❜❡❡♥ r✐❣♦r♦✉s❧② ✐♠♣❧❡♠❡♥t❡❞ ✐♥ t❤❡ ❝❛❧❝✉❧❛t✐♦♥s ❜✉t t♦ ♥❡✈❡rt❤❡❧❡ss
❣❡t ❛ ❢❡❡❧✐♥❣ ❢♦r t❤❡ ✐♠♣❛❝t t❤✐s ❝♦✉❧❞ ❤❛✈❡ ♦♥ t❤❡ ❡✈❛♣♦r❛t✐♦♥ r❛t❡✱ t❤❡ ❢♦❧❧♦✇✐♥❣ ❙t❡❢❛♥✲❋✉❝❤s
❝♦rr❡❝t✐♦♥❙✼ t♦ t❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ✐s ✉s❡❞✿

Jl,DSF (r) =
Jl,D(r)

1− χσ

. ✭✶✹✮

❚❤✐s ✐s ❜❡❧✐❡✈❡❞ t♦ ♦✈❡r❡st✐♠❛t❡ t❤❡ ❡✈❛♣♦r❛t✐♦♥ r❛t❡✱ ❛s t❤❡ ✐❣♥♦r❡❞ ❝♦♥✈❡❝t✐✈❡ ❡✛❡❝t ♦❢ ❙t❡❢❛♥
✢♦✇ ✇✐❧❧ ✐ts❡❧❢ ❣❡♥❡r❛❧❧② t❡♥❞ t♦ ❞❡❝r❡❛s❡ t❤❡ ♠♦❧❡✲❢r❛❝t✐♦♥ ❣r❛❞✐❡♥ts ❛t t❤❡ ❞r♦♣❧❡t ✐♥t❡r❢❛❝❡✳ ❚❤❡
❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ❝❛♥ ❜❡ ♦❜t❛✐♥❡❞ ❜② ✐♥t❡❣r❛t✐♥❣ t❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ♦✈❡r t❤❡ ❡♥t✐r❡
❞r♦♣❧❡t ✐♥t❡r❢❛❝❡✱ ✇❤✐❝❤✱ ❢♦r ✢❛tt❡♥❡❞ ❞r♦♣s✱ ❡✈❛❧✉❛t❡s t♦

Jg,D = 4Dvρv,σRc , ✭✶✺✮

Jg,DSF =
4Dvρv,σRc

1− χσ

. ✭✶✻✮

▲❛r❣❡✲●r❛s❤♦❢✲♥✉♠❜❡r ❧✐♠✐t✿ ❜♦✉♥❞❛r②✲❧❛②❡r ❛♣♣r♦❛❝❤

❆ss✉♠♣t✐♦♥s ❛♥❞ ❞✐♠❡♥s✐♦♥❧❡ss ♥✉♠❜❡rs

❆s ❡✈✐❞❡♥❝❡❞ ❜② t❤❡ ❡①♣❡r✐♠❡♥t❛❧ r❡s✉❧ts✱ s♦❧✉t❛❧ ✭❞❡♥s✐t② ✈❛r✐❛t✐♦♥ ✇✐t❤ t❤❡ ✈❛♣♦✉r ❝♦♥❝❡♥tr❛t✐♦♥✮
❜✉♦②❛♥❝② ❝♦♥✈❡❝t✐♦♥ ✐♥ t❤❡ ❣❛s ♣❤❛s❡ ♠✉st ♣❧❛② ❛♥ ✐♠♣♦rt❛♥t r♦❧❡ ✐♥ t❤❡ st✉❞✐❡❞ ♣❤❡♥♦♠❡♥♦♥✱
❛❧❧ t❤❡ ♠♦r❡ s♦ t❤❛t ✇❡ ❛r❡ ❤❡r❡ ❞❡❛❧✐♥❣ ✇✐t❤ ❛ ❤✐❣❤❧② ✈♦❧❛t✐❧❡ ❧✐q✉✐❞ ✭❍❋❊✲✼✵✵✵✮ ✇✐t❤ ❛ ❧❛r❣❡
♠♦❧❡❝✉❧❛r ✇❡✐❣❤t ✭Mv = 0.2 kg/m3✮✳ ■t t♦t❛❧❧② r❡s❤❛♣❡s t❤❡ ✈❛♣♦✉r ❝❧♦✉❞ ❛s ❝♦♠♣❛r❡❞ t♦ t❤❡ ♣✉r❡✲
❞✐✛✉s✐♦♥ ❝❛s❡ ❛♥❞ t❤✉s ❡ss❡♥t✐❛❧❧② ❛✛❡❝ts t❤❡ ❡✈❛♣♦r❛t✐♦♥ r❛t❡s✳ ❚❤❡ ✐♥t❡♥s✐t② ♦❢ t❤✐s ❝♦♥✈❡❝t✐✈❡
❡✛❡❝t ✐s ❝❤❛r❛❝t❡r✐s❡❞ ❜② ❛ ●r❛s❤♦❢ ♥✉♠❜❡r Gr ✱ ✇❤✐❝❤ ✇❡ ❝❛♥ ❤❡r❡ ❞❡✜♥❡ ❛s

Gr =
∆ρggR

3
c

µairνair
, ✭✶✼✮

✇❤❡r❡ ∆ρg ✐s t❤❡ s❝❛❧❡ ♦❢ t❤❡ ❣❛s ❞❡♥s✐t② ✈❛r✐❛t✐♦♥✱ g ✐s t❤❡ ❣r❛✈✐t② ❛❝❝❡❧❡r❛t✐♦♥✱ Rc ✐s t❤❡ ❝♦♥t❛❝t
r❛❞✐✉s ♦❢ t❤❡ ♣❡♥❞❛♥t ❞r♦♣✱ µair = 1.85 × 10−5 Pa s ✐s t❤❡ ❞②♥❛♠✐❝ ✈✐s❝♦s✐t② ♦❢ ♣✉r❡ ❛✐r✱ ❛♥❞
νair = 1.58 × 10−5 m2/s ✐ts ❦✐♥❡♠❛t✐❝ ✈✐s❝♦s✐t②✳ ◆♦✇ t❤❡ ♣✉r❡✲❞✐✛✉s✐♦♥ ❧✐♠✐t ✭✇❤✐❝❤✱ ♦♥ ❛❝❝♦✉♥t
♦❢ ❡ss❡♥t✐❛❧ ✈❛♣♦✉r ♠♦❧❡ ❢r❛❝t✐♦♥s✱ ✐s ✉♥❞❡rst♦♦❞ ✐♥ t❤✐s s❡❝t✐♦♥ ❛s ✐♥❤❡r❡♥t❧② ✐♥❝♦r♣♦r❛t✐♥❣ t❤❡
❛ss♦❝✐❛t❡❞ ❙t❡❢❛♥ ✢♦✇✮ ❛❝t✉❛❧❧② ❝♦rr❡s♣♦♥❞s t♦ Gr ≪ 1✱ ✇❤✐❝❤ ✐s ♦❜✈✐♦✉s❧② ♥♦t t❤❡ ❝❛s❡ ✐♥ t❤❡
♣r❡s❡♥t ❡①♣❡r✐♠❡♥ts✳ ◆♦t❡ t❤❛t t❤❡ ❙❝❤♠✐❞t ♥✉♠❜❡r ✐s ❤❡r❡ ♦❢ ♦r❞❡r ✉♥✐t② ✭Sc = νair/Dv = 1.95
✇✐t❤ Dv = 0.811×10−5 m2/s t❤❡ ❞✐✛✉s✐♦♥ ❝♦❡✣❝✐❡♥t❙✽✮✱ ✇❤✐❝❤ ♣❡r♠✐ts ❛s②♠♣t♦t✐❝ ❝❤❛r❛❝t❡r✐s❛t✐♦♥
♦❢ t❤❡ ♣❤❡♥♦♠❡♥♦♥ s♦❧❡❧② ✐♥ t❡r♠s ♦❢ Gr ✳ ▲❡t ✉s ♥♦✇ ❡st✐♠❛t❡ t❤❡ ✈❛❧✉❡s ♦❢ ∆ρg ❛♥❞ Gr ❢♦r ♦✉r
♣r♦❜❧❡♠✱ ❛♥❞ ♠❛❦❡ ❛ ♥✉♠❜❡r ♦❢ ♦t❤❡r ✉s❡❢✉❧ ❞❡✈❡❧♦♣♠❡♥ts ✐♥ ♣❛ss✐♥❣✳

■❢ χ ✐s t❤❡ ♠♦❧❡ ❢r❛❝t✐♦♥ ♦❢ ✈❛♣♦✉r ✐♥ t❤❡ ❣❛s ♣❤❛s❡✱ t❤❡ ❣❛s ❞❡♥s✐t② ρg ❝❛♥ ❜❡ ❡①♣r❡ss❡❞ ❛s ρg =
cg [Mair + (Mv −Mair)χ]✱ ✇❤❡r❡ cg ✐s t❤❡ ♠♦❧❡ ❞❡♥s✐t② ♦❢ t❤❡ ❣❛s ❛♥❞Mair = 0.029 kg/mol✳ ■♥ ✇❤❛t
❢♦❧❧♦✇s✱ ✇❡ s❤❛❧❧ ♥❡❣❧❡❝t t❤❡ t❡♠♣❡r❛t✉r❡ ❞❡♣❡♥❞❡♥❝❡ ♦❢ ❛❧❧ ♣r♦♣❡rt✐❡s ✭t❤❡ ❡①♣❡❝t❡❞ t❡♠♣❡r❛t✉r❡
❞✐✛❡r❡♥❝❡s ♠✉st ❤❡r❡ ❜❡ ♠✉❝❤ s♠❛❧❧❡r t❤❛♥ t❤❡ ❛❜s♦❧✉t❡ t❡♠♣❡r❛t✉r❡✮ ❛♥❞ ✉s❡ t❤❡✐r ✈❛❧✉❡s ❛t ❛
t❡♠♣❡r❛t✉r❡ ♦❢ ∼ 25◦C✳ ❚❤✐s ✐s ❞♦♥❡ ❡①❝❡♣t ❢♦r t❤❡ s❛t✉r❛t✐♦♥ ❝♦♥❞✐t✐♦♥s✱ ✇❤❡r❡ t❤❡ t❡♠♣❡r❛t✉r❡
❞❡♣❡♥❞❡♥❝❡ ✐s ❡s♣❡❝✐❛❧❧② str♦♥❣ ❛♥❞ ❡ss❡♥t✐❛❧✳ ❲❡ s❤❛❧❧ ❛❧s♦ tr❡❛t t❤❡ ❣❛s ❛s ✐❞❡❛❧✳ ❇❡s✐❞❡s✱ ❛♥②
❤②❞r♦❞②♥❛♠✐❝ ❛♥❞ ❤②❞r♦st❛t✐❝ ♣r❡ss✉r❡ ✈❛r✐❛t✐♦♥ ♠✉st ❤❡r❡ ❜❡ s♠❛❧❧ ❛❣❛✐♥st t❤❡ ❛❜s♦❧✉t❡ ♣r❡ss✉r❡
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✈❛❧✉❡✳ ■♥ t❤✐s ✇❛②✱ ✐♥ ♣❛rt✐❝✉❧❛r✱ cg ≈ const = Pamb/RTamb✱ ✇❤❡r❡ R ✐s t❤❡ ✉♥✐✈❡rs❛❧ ❣❛s ❝♦♥st❛♥t
❛♥❞ Pamb ❛♥❞ Tamb ❛r❡ t❤❡ ❛♠❜✐❡♥t ♣r❡ss✉r❡ ❛♥❞ t❡♠♣❡r❛t✉r❡✱ ❛♥❞ ρair ≈ cgMair ✐s t❤❡ ❞❡♥s✐t② ♦❢
♣✉r❡ ❛✐r ✉♥❞❡r t❤❡ s❛♠❡ ❛♠❜✐❡♥t ❝♦♥❞✐t✐♦♥s ✭χ → 0 ❛♥❞ ρg → ρair ❢❛r ❛✇❛② ❢r♦♠ t❤❡ ❞r♦♣❧❡t✮✳
■❢ Psat(T ) ✐s t❤❡ s❛t✉r❛t✐♦♥ ♣r❡ss✉r❡ ✭❤❡r❡ ♦❢ ❍❋❊✲✼✵✵✵✮ ❛s ❛ ❢✉♥❝t✐♦♥ ♦❢ t❡♠♣❡r❛t✉r❡✱ ❢♦r ✇❤✐❝❤
✇❡ ❤❡r❡ ✉s❡ t❤❡ ❈❧❛✉s✐✉s✲❈❧❛♣❡②r♦♥ r❡❧❛t✐♦♥ Psat(T ) = Psat(T0) exp [LMv(T − T0)/RTT0] ✇✐t❤
L ❜❡✐♥❣ t❤❡ ❧❛t❡♥t ❤❡❛t ♦❢ ❡✈❛♣♦r❛t✐♦♥ ✭✐♥ ❏✴❦❣✮✱ t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣ s❛t✉r❛t✐♦♥ ♠♦❧❡ ❢r❛❝t✐♦♥ ✐s
χsat(T ) = Psat(T )/Pamb✳ ❚❤❡ ♠❛①✐♠✉♠ ✈❛❧✉❡ ♦❢ χsat ✐s ❛tt❛✐♥❡❞ ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡✱ ✇❤❡r❡ t❤❡
t❡♠♣❡r❛t✉r❡ ✐s ♣r❛❝t✐❝❛❧❧② t❤❡ ❛♠❜✐❡♥t ♦♥❡✱ ❛♥❞ ❞❡❝r❡❛s❡s t♦✇❛r❞s t❤❡ ❝❡♥t❡r ♦❢ t❤❡ ❞r♦♣ ✭❋✐❣✉r❡ ✹
♦❢ t❤❡ ♠❛✐♥ t❡①t✮✳ ❲❡ s❤❛❧❧ ❞❡✜♥❡ ∆ρg ❛s t❤❡ ❞✐✛❡r❡♥❝❡ ❜❡t✇❡❡♥ t❤❡ ♠❛①✐♠✉♠ ✈❛❧✉❡ ♦❢ ρg ✭✐♥ ✈✐❡✇
♦❢ Mv > Mair✱ ❛tt❛✐♥❡❞ ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡ t♦♦✮ ❛♥❞ ρair✳ ❚❤✉s✱

∆ρg = ρg,max − ρair =
Pamb

RTamb

(Mv −Mair)χsat(Tamb) =
Psat(Tamb)

RTamb

(Mv −Mair) . ✭✶✽✮

❲✐t❤ L = 142 kJ/kg✱ Tamb = 297.15K✱ Psat(Tamb) = 62.2 kPa✱ ♦♥❡ ♦❜t❛✐♥s ∆ρg = 4.31 kg/m3✱
✇❤✐❝❤ ✐s s❡✈❡r❛❧ t✐♠❡s ❧❛r❣❡r t❤❛♥ t❤❡ ❞❡♥s✐t② ♦❢ ♣✉r❡ ❛✐r✱ ρair = 1.18 kg/m3✱ ❛t Pamb = 1atm✳

❚❤❡♥✱ ❢♦r ❛ ❞r♦♣ ♦❢ Rc = 1.81mm✱ ✐t ❢♦❧❧♦✇s ❢r♦♠ ❡q ✶✼ t❤❛t Gr ✐s ❛s ❧❛r❣❡ ❛s 852✱ ✇❤✐❝❤ ❣♦❡s
✇❡❧❧ ❛❧♦♥❣ ✇✐t❤ t❤❡ ♦❜s❡r✈❡❞ ❝♦♥❝❡♥tr❛t✐♦♥ ✜❡❧❞s ❜❡✐♥❣ ❢❛r ❢r♦♠ t❤❡ ♣✉r❡✲❞✐✛✉s✐♦♥ ❝❛s❡ ✭❋✐❣✉r❡ ✷
♦❢ t❤❡ ♠❛✐♥ t❡①t✮✳ ❖♥ t❤❡ ♦t❤❡r ❤❛♥❞✱ t❤❡ ❡st✐♠❛t❡❞ ❧❛r❣❡♥❡ss ♦❢ Gr ✐♥s♣✐r❡s ❝♦♥s✐❞❡r✐♥❣ t❤❡ ❧✐♠✐t
♦♣♣♦s✐t❡ t♦ t❤❡ ♣✉r❡✲❞✐✛✉s✐♦♥ ♦♥❡✱ ♥❛♠❡❧② t❤❛t ♦❢ Gr → ∞ ❛♥❞ ❜♦✉♥❞❛r② ❧❛②❡rs❙✾✱❙✶✵✱ ✇❤✐❝❤ ✐s ♥♦
❞♦✉❜t ♠♦r❡ ♣❡rt✐♥❡♥t t♦ t❤❡ ♣r❡s❡♥t ❡①♣❡r✐♠❡♥ts ❛♥❞ ✇❤✐❝❤ ✇❡ ❝❛rr② ♦✉t ❤❡r❡✳ ❆t t❤❡ s❛♠❡ t✐♠❡✱
♦♥❡ s❤♦✉❧❞ ❛ ♣r✐♦r✐ r❡❝♦❣♥✐③❡ t❤❛t Gr ∼ 852 ✐s ♣r♦❜❛❜❧② ♥♦t ❧❛r❣❡ ❡♥♦✉❣❤ ❢♦r s✉❝❤ ❛ ❝❛❧❝✉❧❛t✐♦♥
t♦ ❜❡ ♠♦r❡ t❤❛♥ ❛♥ ❛❞✈❛♥❝❡❞ ❡st✐♠❛t✐♦♥✳ ❊s♣❡❝✐❛❧❧② ❝♦♥s✐❞❡r✐♥❣ t❤❛t t❤❡ ❧❛r❣❡ ♣❛r❛♠❡t❡r ❡♥t❡r✐♥❣
t❤❡ ❜♦✉♥❞❛r②✲❧❛②❡r s❝❤❡♠❡ ✭s❡❡ ❜❡❧♦✇✮ ✐s ♦♥❧② ❛s ❧❛r❣❡ ❛s Gr

1/5 ∼ 3.9✳ ❆♥②❤♦✇✱ ✇❤✐❧❡ ❛♥ ❡①❛❝t
♠♦❞❡❧❧✐♥❣ st✐❧❧ ❛✇❛✐ts ✐ts r❡❛❧✐s❛t✐♦♥✱ ✇❡ s❤❛❧❧ ❤❡r❡ st✐❝❦ t♦ ❛ ♠♦r❡ ❛❝❝❡ss✐❜❧❡ ❛s②♠♣t♦t✐❝ ❛♥❛❧②s✐s✳
❆s ✐t ✐s t②♣✐❝❛❧❧② t❤❡ ❝❛s❡✱ q✉❛s✐✲st❛t✐♦♥❛r✐t② ✐s ❛ss✉♠❡❞✿ t❤❡ ❞r♦♣ ❡✈❛♣♦r❛t❡s ♠✉❝❤ s❧♦✇❡r t❤❛♥
t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥ ✜❡❧❞ ✐s ❡st❛❜❧✐s❤❡❞✳ ❚❤✉s✱ ❛t ❡❛❝❤ ✐♥st❛♥t ❛♥❞ ❢♦r ❡❛❝❤ s❤❛♣❡ ♦❢ t❤❡ ❞r♦♣ ❞✉r✐♥❣
t❤❡ ♣r♦❝❡ss ♦❢ ❡✈❛♣♦r❛t✐♦♥✱ t❤❡ ❝♦♥❝❡♥tr❛t✐♦♥ ❛♥❞ ✢♦✇ ✜❡❧❞s ❛r❡ ❛ss✉♠❡❞ t♦ ❜❡ st❛t✐♦♥❛r②✳

❲❤✐❧❡ t❤❡ t❡♠♣❡r❛t✉r❡ ❞❡♣❡♥❞❡♥❝❡ ✐s ♥❡❣❧❡❝t❡❞ ❛s s❛✐❞ ❛❜♦✈❡✱ ✇❡ ❞♦ ❤❛✈❡ t♦ t❛❦❡ ✐♥t♦ ❛❝❝♦✉♥t
t❤❡ ❞❡♣❡♥❞❡♥❝❡ ♦❢ t❤❡ ❞②♥❛♠✐❝ ✈✐s❝♦s✐t② µg ♦❢ t❤❡ ❣❛s ♠✐①t✉r❡ ♦♥ χ✳ ❚❤❡ ❢♦❧❧♦✇✐♥❣ s❡♠✐✲❡♠♣✐r✐❝❛❧
❢♦r♠✉❧❛ ✐s ✉s❡❞❙✶✶✿

µg =
µvχ

χ+ (1− χ) Φ12

+
µair (1− χ)

χΦ21 + 1− χ
,

Φ12 =
1√
8

(

1 +
Mv

Mair

)−1/2
[

1 +

(

µv

µair

)1/2 (
Mair

Mv

)1/4
]2

,

Φ21 =
1√
8

(

1 +
Mair

Mv

)−1/2
[

1 +

(

µair

µv

)1/2 (
Mv

Mair

)1/4
]2

,

✇❤❡r❡ ✇❡ ❢♦r♠❛❧❧② tr❡❛t ❛✐r ❛s ❛ ♦♥❡✲❝♦♠♣♦♥❡♥t ❣❛s✳ ❋♦r t❤❡ ❞②♥❛♠✐❝ ✈✐s❝♦s✐t② µv ♦❢ ♣✉r❡ ✈❛♣♦✉r ♦❢
❍❋❊✲✼✵✵✵ r❡q✉✐r❡❞ ✐♥ t❤❡ ❛❜♦✈❡ ❢♦r♠✉❧❛✱ t❤❡ ✈❛❧✉❡ ❣✐✈❡♥ ❜② ✸▼➋ ✐s ✉s❡❞✱ ✐✳❡✳ µv = 1.09×10−5 Pa s✳
❖♥ t❤❡ ♦t❤❡r ❤❛♥❞✱ t❤❡ ❞✐✛✉s✐♦♥ ❝♦❡✣❝✐❡♥t Dv ✐s t❛❦❡♥ t♦ ❜❡ χ✲✐♥❞❡♣❡♥❞❡♥t❙✶✶✱ ✐✳❡✳ ❛ ❝♦♥st❛♥t✳

❇♦✉♥❞❛r②✲▲❛②❡r ❋♦r♠✉❧❛t✐♦♥

❲❡ ♥♦✇ ✇r✐t❡ ❞♦✇♥ t❤❡ ❞✐♠❡♥s✐♦♥❧❡ss ❜♦✉♥❞❛r②✲❧❛②❡r ❢♦r♠✉❧❛t✐♦♥ ❢♦r t❤❡ st❛t✐♦♥❛r② ❛①✐s②♠♠❡tr✐❝
❜✉♦②❛♥❝② ❝♦♥✈❡❝t✐♦♥ ❜❡❧♦✇ ❛ ♣❡♥❞❛♥t✲❞r♦♣ s✉r❢❛❝❡✳ ❚❤❡ ❝②❧✐♥❞r✐❝❛❧ r❛❞✐❛❧ ❝♦♦r❞✐♥❛t❡ r✱ t❤❡ ✈❡rt✐❝❛❧
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❋✐❣✉r❡ ❙✻✿ ❚❤❡ ❜♦✉♥❞❛r②✲❧❛②❡r ❝♦♦r❞✐♥❛t❡s r ❛♥❞ y ♦❢ ❛ ♣♦✐♥t P ✭❞❡s✐❣♥❛t❡❞ ♦♥ t❤❡ s❦❡t❝❤ ❛s rp
❛♥❞ yp✮✳

❝♦♦r❞✐♥❛t❡ z ✭❞✐r❡❝t❡❞ ❞♦✇♥✇❛r❞s✱ ✇✐t❤ z = 0 ❛t t❤❡ s♦❧✐❞ s✉r❢❛❝❡✮ ❛♥❞ t❤❡ ❝♦♦r❞✐♥❛t❡ y ✭❡①♣❧❛✐♥❡❞
❜❡❧♦✇✮ ❛r❡ ❛❧❧ ♠❛❞❡ ❞✐♠❡♥s✐♦♥❧❡ss ✇✐t❤ t❤❡ ❝♦♥t❛❝t r❛❞✐✉s Rc✱ ✉s❡❞ ❛s t❤❡ ❧❡♥❣t❤s❝❛❧❡✳ ❚❤❡ ❞r♦♣
s✉r❢❛❝❡ ✐s r❡♣r❡s❡♥t❡❞ ❛s z = h(r) ✭❢♦r 0 < r < 1✮✳ ❋♦r t❤❡ ❝♦♦r❞✐♥❛t❡ ❛❧♦♥❣ t❤❡ ❞r♦♣ s✉r❢❛❝❡✱ ✇❡
✉s❡ r ✇✐t❤ t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣ ♠❡tr✐❝ ❝♦❡✣❝✐❡♥t Hr(r) =

√
1 + h′2✱ t❤❡ ♣r✐♠❡ ❤❡r❡❛❢t❡r ❞❡♥♦t✐♥❣

t❤❡ ❞✐✛❡r❡♥t✐❛t✐♦♥ ✇✐t❤ r❡s♣❡❝t t♦ r✳ ■♥ t❤❡ ❢♦❧❧♦✇✐♥❣ ❢♦r♠✉❧❛t✐♦♥✱ t❤❡ ❝♦♦r❞✐♥❛t❡s ♦❢ ❛♥② ♣♦✐♥t
P ♦✉ts✐❞❡ t❤❡ ❞r♦♣❧❡t ❛r❡ ❣✐✈❡♥ ❜② t❤❡ ♥♦r♠❛❧ ❞✐st❛♥❝❡ y t♦ t❤❡ ❞r♦♣❧❡t ✐♥t❡r❢❛❝❡ ❛♥❞ t❤❡ r❛❞✐❛❧
❝♦♦r❞✐♥❛t❡ r ♦❢ t❤❡ ❢♦♦t ♦❢ t❤✐s ♣r♦❥❡❝t✐♦♥ ✭❋✐❣✉r❡ ❙✻✮✳ ❚❤❡ ❧♦❝❛❧ s❧♦♣❡ ♦❢ t❤❡ ❞r♦♣ s✉r❢❛❝❡ ✐s
❣✐✈❡♥ ❜② t❤❡ ❛♥❣❧❡ ϕ(r) = − arctanh′ ✇✐t❤ t❤❡ ❤♦r✐③♦♥t❛❧✱ t❤❡ ❝♦♥t❛❝t ❛♥❣❧❡ ❜❡✐♥❣ θ = ϕ(1)✳
◆♦t❡ t❤❛t Hr = 1/ cosϕ✳ ❚❤❡ t❛♥❣❡♥t✐❛❧ ❛♥❞ ♦rt❤♦❣♦♥❛❧ ✭t♦ t❤❡ ❞r♦♣ s✉r❢❛❝❡✮ ✈❡❧♦❝✐t② ✜❡❧❞
❝♦♠♣♦♥❡♥ts u ❛♥❞ v ❛r❡ ♠❛❞❡ ❞✐♠❡♥s✐♦♥❧❡ss ✇✐t❤ νair/Rc✱ ✇❤✐❧❡ t❤❡ ♣r❡ss✉r❡ p ✭❞❡✈✐❛t✐♦♥ ❢r♦♠
t❤❡ ❤②❞r♦st❛t✐❝ ♣r❡ss✉r❡ ❞✐str✐❜✉t✐♦♥ ✐♥ t❤❡ ✉♥♣❡rt✉r❜❡❞✱ ♣✉r❡ ❛✐r✮ ✇✐t❤ µairνair/R

2
c ✳ ❋♦❧❧♦✇✐♥❣ t❤❡

❣❡♥❡r❛❧ ♣r✐♥❝✐♣❧❡s❙✾✱ t❤❡ s♦✉❣❤t ❞✐♠❡♥s✐♦♥❧❡ss ❜♦✉♥❞❛r②✲❧❛②❡r ❢♦r♠✉❧❛t✐♦♥ ❝❛♥ ♥♦✇ ❜❡ ✇r✐tt❡♥ ❛s
✭❢✉rt❤❡r ❡①♣❧❛♥❛t✐♦♥s ❜❡❧♦✇✮

1

Hr

(

∂u

∂r
+

1

r
u

)

+
∂v

∂y
= 0 , ✭✶✾✮

ρ̃g(χ)

[

u

Hr

∂u

∂r
+

(

v − Sc
−1Mv/Mair − 1

ρ̃g(χ)

∂χ

∂y

)

∂u

∂y

]

= − 1

Hr

∂p

∂r
+

∂

∂y
µ̃g(χ)

∂u

∂y
−Gr

χ

χsat(Tamb)
sinϕ ,

✭✷✵✮

0 = −∂p

∂y
+Gr

χ

χsat(Tamb)
cosϕ , ✭✷✶✮

u

Hr

∂χ

∂r
+ v

∂χ

∂y
= Sc

−1∂
2χ

∂y2
, ✭✷✷✮

u = uσ , v = − Sc
−1

1− χ

∂χ

∂y
, χ = χσ at y = 0 , ✭✷✸✮

u → 0 , p → 0 , χ → 0 as y → +∞ , ✭✷✹✮

✇❤❡r❡ Gr ✐s ❞❡✜♥❡❞ ❛❝❝♦r❞✐♥❣ t♦ ❡q ✶✼ ✇✐t❤ ❡q ✶✽✱ ρ̃g(χ) = ρg(χ)/ρair = 1 + (Mv/Mair − 1)χ✱ ❛♥❞
µ̃g(χ) = µg(χ)/µair✳

❚❤❡ ♣r♦❜❧❡♠ ✐s ❤❡r❡ ♠♦r❡ ❝♦♥✈❡♥✐❡♥t❧② ❢♦r♠✉❧❛t❡❞ ✐♥ t❡r♠s ♦❢ t❤❡ ♠♦❧❡ ❛✈❡r❛❣❡ ✈❡❧♦❝✐t② ❙✶✶✱ ✐♥
❝♦♥tr❛st ✇✐t❤ t❤❡ ✉s✉❛❧✱ ♠❛ss ❛✈❡r❛❣❡ ✭♦r ❜❛r②❝❡♥tr✐❝✮ ♦♥❡✳ ❚❤✐s ✐s ✇❤② t❤❡ ❝♦♥t✐♥✉✐t② ❡q✉❛t✐♦♥✱
❡q ✶✾✱ ✐s ♠❡r❡❧② ✐♥ t❤❡ ❢♦r♠ ♦❢ t❤❡ ❞✐✈❡r❣❡♥❝❡ ♦❢ t❤❡ ✈❡❧♦❝✐t② ✜❡❧❞ ❡q✉❛❧ t♦ ③❡r♦✱ ✐♥ s♣✐t❡ ♦❢ str♦♥❣
❞❡♥s✐t② ✈❛r✐❛t✐♦♥s✿ t❤❡ ♠♦❧❡ ❞❡♥s✐t② cg ✐s ❤❡r❡ ❛ss✉♠❡❞ ❝♦♥st❛♥t✱ ❛s ❞✐s❝✉ss❡❞ ❛❜♦✈❡✳ ❚❤❡ s❛♠❡ ✐s
tr✉❡ ❢♦r t❤❡ s♣❡❝✐❡s ❝♦♥s❡r✈❛t✐♦♥ ❡q✉❛t✐♦♥✱ ❡q ✷✷✱ ✇❤✐❝❤ ❛❞♦♣ts ❛ ♣❛rt✐❝✉❧❛r❧② s✐♠♣❧❡ ❢♦r♠✳ ■♥ ❢❛❝t✱

❙✶✸



✇✐t❤✐♥ t❤❡ ❧❡❛❞✐♥❣✲♦r❞❡r ❜♦✉♥❞❛r②✲❧❛②❡r ❛♣♣r♦❛❝❤ t♦ ✇❤✐❝❤ t❤❡ ♣r❡s❡♥t ❢♦r♠✉❧❛t✐♦♥ ♣❡rt❛✐♥s✱ t❤❡r❡
✐s ♥♦ ❞✐✛❡r❡♥❝❡ ❜❡t✇❡❡♥ t❤❡ t✇♦ t②♣❡s ♦❢ ✈❡❧♦❝✐t② ❛s ❢❛r ❛s t❤❡ u ❝♦♠♣♦♥❡♥t ✐s ❝♦♥❝❡r♥❡❞✳ ❚❤✐s
✐s ♥♦t t❤❡ ❝❛s❡ ❢♦r t❤❡ v ❝♦♠♣♦♥❡♥t t❤♦✉❣❤✳ ◆❛♠❡❧②✱ t❤❡ ♠❛ss ❛✈❡r❛❣❡ ♦rt❤♦❣♦♥❛❧ ✈❡❧♦❝✐t②✲✜❡❧❞
❝♦♠♣♦♥❡♥t ✐s ❣✐✈❡♥ ❜② t❤❡ t❡r♠ ✐♥ ♣❛r❡♥t❤❡s❡s ♦♥ t❤❡ ❧❡❢t✲❤❛♥❞ s✐❞❡ ♦❢ t❤❡ t❛♥❣❡♥t✐❛❧ ♠♦♠❡♥t✉♠
❡q✉❛t✐♦♥✱ ❡q ✷✵✱ ❛♥❞ s♦ t❤✐s ❡q✉❛t✐♦♥ ❝❧❡❛r❧② ❛❞♦♣ts t❤❡ ✉s✉❛❧ ❢♦r♠ ✐♥ t❡r♠s ♦❢ t❤❡ ♠❛ss ❛✈❡r❛❣❡
✈❡❧♦❝✐t②✳ ◆♦t❡ t❤❛t ❜♦t❤ t❛♥❣❡♥t✐❛❧ ✭❡q ✷✵✮ ❛♥❞ ♦rt❤♦❣♦♥❛❧ ✭❡q ✷✶✮ ❜✉♦②❛♥❝② ❢♦r❝❡ ❝♦♠♣♦♥❡♥ts ❛r❡
♣r❡s❡♥t ✐♥ t❤❡ ❢♦r♠✉❧❛t✐♦♥ ✭s❡❡ ❛❧s♦ ❞✐s❝✉ss✐♦♥ ❜❡❧♦✇✮✳ ❊q✉❛t✐♦♥ ✷✹ st❛t❡s t❤❛t t❤r❡❡ ❞❡♣❡♥❞❡♥t
✈❛r✐❛❜❧❡s ✭❜✉t ♥♦t v✮ ❢❛❞❡ ❛✇❛② ❛t t❤❡ ♦✉t❡r ❡❞❣❡ ♦❢ t❤❡ ❜♦✉♥❞❛r② ❧❛②❡r✳

❋♦r t❤❡ ✐♥t❡r❢❛❝✐❛❧ ❜♦✉♥❞❛r② ❝♦♥❞✐t✐♦♥s ❞❡✜♥❡❞ ✐♥ ❡q ✷✸✱ t❤r❡❡ ❞✐✛❡r❡♥t ✈❛r✐❛♥ts ❛r❡ ❝♦♥s✐❞❡r❡❞✳
■♥ ❛❧❧ ♦❢ t❤❡♠✱ t❤❡ ❝♦♥❞✐t✐♦♥ ♦❢ t❤❡ ♥♦r♠❛❧ ✈❡❧♦❝✐t② ❞❡t❡r♠✐♥❡❞ ❜② ❡✈❛♣♦r❛t✐♦♥ ✭y = 0✱ ❡q ✷✸✱ s❡❝♦♥❞
r❡❧❛t✐♦♥✮ r❡♠❛✐♥s ✉♥❝❤❛♥❣❡❞✳ ❖♥ t❤❡ ♦t❤❡r ❤❛♥❞✱ t❤❡ ♠♦❧❡ ❢r❛❝t✐♦♥ ❞✐str✐❜✉t✐♦♥ ❛❧♦♥❣ t❤❡ ❞r♦♣
s✉r❢❛❝❡ χσ ✭❡q ✷✸✱ t❤✐r❞ r❡❧❛t✐♦♥✮ ✐s ❡✐t❤❡r t❛❦❡♥ ❝♦♥st❛♥t ❛♥❞ ❡q✉❛❧ t♦ t❤❡ s❛t✉r❛t✐♦♥ ♠♦❧❡ ❢r❛❝t✐♦♥
❞❡t❡r♠✐♥❡❞ ❜② t❤❡ ❛♠❜✐❡♥t t❡♠♣❡r❛t✉r❡ ♦r r❛t❤❡r ❛❞♦♣t❡❞ ❢r♦♠ t❤❡ ❡①♣❡r✐♠❡♥t❛❧ ♠❡❛s✉r❡♠❡♥t ♦❢
t❤❡ ✐♥t❡r❢❛❝✐❛❧ ♠♦❧❡ ❢r❛❝t✐♦♥ ✭❛s ❡①♣❧❛✐♥❡❞ ✐♥ t❤❡ ♠❛✐♥ t❡①t✮✳ ❋♦r t❤❡ s✉r❢❛❝❡ t❛♥❣❡♥t✐❛❧ ✈❡❧♦❝✐t②
uσ ✭❡q ✷✸✱ ✜rst r❡❧❛t✐♦♥✮ t❤❡r❡ ❛❧s♦ ❛r❡ t✇♦ ♣♦ss✐❜✐❧✐t✐❡s✳ ❊✐t❤❡r ✇❡ ❛ss✉♠❡ ✐t ❡q✉❛❧ t♦ ③❡r♦ ✭✐✳❡✳
♥❡❣❧✐❜❧❡ ❛s ❝♦♠♣❛r❡❞ t♦ t❤❡ ✈❡❧♦❝✐t✐❡s ♣r❡s❡♥t ✐♥ t❤❡ ❣❛s✮ ♦r ❛❧t❡r♥❛t✐✈❡❧②✱ ✐♥ ❧✐❣❤t ♦❢ t❤❡ ❧❛r❣❡
t❡♠♣❡r❛t✉r❡ ❞r♦♣s ♠❡❛s✉r❡❞ ❡①♣❡r✐♠❡♥t❛❧❧②✱ ✇❡ ❝♦♠♣✉t❡ t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣ t❤❡r♠❛❧ ▼❛r❛♥❣♦♥✐
✢♦✇ ✐♥s✐❞❡ t❤❡ ❞r♦♣❧❡t ❛♥❞ ✉s❡ t❤❡ r❡s✉❧t✐♥❣ uσ ❞✐str✐❜✉t✐♦♥ ✐♥ t❤❡ ❣❛s ❜♦✉♥❞❛r②✲❧❛②❡r s✐♠✉❧❛t✐♦♥✳
❚❤❡s❡ ❢♦✉r ♦♣t✐♦♥s ❧❡❛❞ t♦ ♦♥❧② t❤r❡❡ r❡❛s♦♥❛❜❧❡ ❝❛s❡s✱ ✇❤✐❝❤ ❛r❡ s❤♦✇♥ ✐♥ t❤❡ ♠❛✐♥ t❡①t✿ ❝♦♥st❛♥t
✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡ ✭❡q✉❛❧ t♦ Tamb ❛♥❞ χσ = χsat (Tamb)✮ ❛♥❞ ❛ st❛❣♥❛♥t ❞r♦♣❧❡t ✭uσ = 0✮✱ ✇❤✐❝❤
✐s ❞❡♥♦t❡❞ ❜② t❤❡ s✉❜s❝r✐♣t Tc ✐♥ t❤❡ ✜❣✉r❡s❀ ♥♦♥✲✉♥✐❢♦r♠ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡ Tσ(r) ❛❞♦♣t❡❞
❢r♦♠ ❡①♣❡r✐♠❡♥t ❛♥❞ χσ = χsat(Tσ)✱ ❜✉t st✐❧❧ ❛ st❛❣♥❛♥t ❞r♦♣❧❡t ✭uσ = 0✮✱ ✇❤✐❝❤ ✐s ❞❡♥♦t❡❞ ❜②
t❤❡ s✉❜s❝r✐♣t Tv❀ ❛♥❞ ✜♥❛❧❧②✱ t❤❡ s❛♠❡ ❛s t❤❡ ❧❛tt❡r ❝❛s❡ ❜✉t ♥♦✇ ✇✐t❤ uσ ❞❡t❡r♠✐♥❡❞ ❢r♦♠ t❤❡
▼❛r❛♥❣♦♥✐ ✢♦✇ ✐♥s✐❞❡ t❤❡ ❞r♦♣❧❡t ❛ss♦❝✐❛t❡❞ ✇✐t❤ Tσ(r)✱ ✇❤✐❝❤ ✐s ❞❡♥♦t❡❞ ❜② t❤❡ s✉❜s❝r✐♣t Ma✳
❚❤❡ ❞❡t❛✐❧s ♦❢ ❤♦✇ t❤✐s ▼❛r❛♥❣♦♥✐ ✢♦✇ ✐s ❝❛❧❝✉❧❛t❡❞ ❛r❡ ❣✐✈❡♥ ✐♥ t❤❡ ❢♦❧❧♦✇✐♥❣ s✉❜s❡❝t✐♦♥✳

❖♥❝❡ t❤❡ s♦❧✉t✐♦♥ ♦❢ t❤❡ ♣r♦❜❧❡♠✱ ❡qs ✶✾✲✷✹✱ ✐s ♦❜t❛✐♥❡❞✱ t❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ ✢✉① ✭♠❛ss ♣❡r
✉♥✐t ❛r❡❛ ❛♥❞ ♣❡r ✉♥✐t t✐♠❡✮ ❛t t❤❡ ❞r♦♣ s✉r❢❛❝❡ ✐s ✜♥❛❧❧② ❡①♣r❡ss❡❞ ❛s

Jl(r) =
Pamb

RTamb

Mv
νair
Rc

v(r, y = 0) , ✭✷✺✮

✇❤❡r❡ v ✐s ❞✐♠❡♥s✐♦♥❧❡ss ❛s ✐♥ ❡qs ✶✾✲✷✹✳ ❚❤❡s❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡s ❛r❡ s❤♦✇♥ ✐♥ ❋✐❣✉r❡ ✺ ✐♥
t❤❡ ♠❛✐♥ t❡①t ❢♦r t❤❡ t❤r❡❡ ♠❡♥t✐♦♥❡❞ ❝❛s❡s ❛s Jl,T c✱ Jl,T v ❛♥❞ Jl,Ma✳

❲❡ ♥♦t❡ t❤❛t✱ ✇❡❧❧ ✐♥ t❤❡ s♣✐r✐t ♦❢ t❤❡ ❜♦✉♥❞❛r②✲❧❛②❡r ❛♣♣r♦❛❝❤✱ ♦♥❡ ♠❛② ❡①♣❡❝t t❤❛t t❤❡
✈❛r✐❛❜❧❡s ❝❛♥ ❜❡ r❡s❝❛❧❡❞ ✇✐t❤ ❝❡rt❛✐♥ ♣♦✇❡rs ♦❢ Gr s♦ t❤❛t Gr ❞✐s❛♣♣❡❛rs ❢r♦♠ t❤❡ ❢♦r♠✉❧❛t✐♦♥✳
❍♦✇❡✈❡r✱ ❤❡r❡ s✉❝❤ ❛ s❝❛❧✐♥❣✲♦✉t ♦❢ Gr ❝❛♥ ❜❡ ❛❝❤✐❡✈❡❞ ❡✐t❤❡r ✐♥ t❤❡ t❛♥❣❡♥t✐❛❧ ❜✉♦②❛♥❝② t❡r♠✱ ♦r
✐♥ t❤❡ ♦rt❤♦❣♦♥❛❧ ♦♥❡✱ ❜✉t ♥♦t ✐♥ ❜♦t❤ s✐♠✉❧t❛♥❡♦✉s❧②✳ ▼♦r❡♦✈❡r✱ t❤❡ ❡①tr❛♥❡♦✉s ✭✇✐t❤ r❡s♣❡❝t t♦
t❤❡ ❜✉♦②❛♥❝② ❝♦♥✈❡❝t✐♦♥✮ ❢❛❝t♦r ♦❢ uσ ♠✉st ❜❡ ❡q✉❛❧ t♦ ③❡r♦ t♦ t❤✐s ♣✉r♣♦s❡✳ ❋♦r ✐♥st❛♥❝❡✱ t♦ ❣❡t
r✐❞ ♦❢ Gr ✐♥ t❤❡ ♦rt❤♦❣♦♥❛❧ ❜✉♦②❛♥❝② t❡r♠✱ t❤❡ ❢♦❧❧♦✇✐♥❣ ❝❤❛♥❣❡ ♦❢ ✈❛r✐❛❜❧❡s ❛♣♣❧✐❡s✿ u → Gr

2/5u✱
v → Gr

1/5v✱ y → Gr
−1/5y✱ p → Gr

4/5p ✭t❤❡ ♦t❤❡r ✈❛r✐❛❜❧❡s ♥♦t ❜❡✐♥❣ ♠♦❞✐✜❡❞✮✳ ❚❤✐s ❧❡❛✈❡s ❛
❢❛❝t♦r ♦❢ Gr 1/5 ✐♥ ❢r♦♥t ♦❢ t❤❡ t❛♥❣❡♥t✐❛❧ ❜✉♦②❛♥❝② t❡r♠ ✭✐♥st❡❛❞ ♦❢ Gr ✐♥ ❡q ✷✵✮✳ ■♥ t❤✐s ✇❛②
✇❡ s❡❡ t❤❛t✱ ❣✐✈❡♥ t❤❛t t❤❡ ♣r❡s❡♥t ❛♥❛❧②s✐s ✐s ✈❛❧✐❞ ❛s Gr → ∞✱ s✉✣❝✐❡♥t❧② s♠❛❧❧ s✉r❢❛❝❡ s❧♦♣❡s
♠✉st ❜❡ ✐♠♣❧✐❡❞ ✭s✉❝❤ t❤❛t Gr 1/5ϕ = O(1)✮ t♦ ❤❛✈❡ ❜♦t❤ t②♣❡s ♦❢ ❜✉♦②❛♥❝② ❝♦♥tr✐❜✉t✐♦♥ ❛t t❤❡
s❛♠❡ ❧❡❛❞✐♥❣ ♦r❞❡r✳ ❋♦r s❧♦♣❡s s♠❛❧❧❡r t❤❛♥ t❤❛t ✭✐✳❡✳ ❢♦r s✉✣❝✐❡♥t❧② ✢❛tt❡♥❡❞ ♣❡♥❞❛♥t ❞r♦♣s✮✱ ✐t
✐s t❤❡ ♦rt❤♦❣♦♥❛❧ ❜✉♦②❛♥❝② t❤❛t ✐s ♣r❡✈❛✐❧✐♥❣✳ ❋♦r ❧❛r❣❡r s❧♦♣❡s✱ ✐t ✐s t❤❡ t❛♥❣❡♥t✐❛❧ ❜✉♦②❛♥❝②✱ ❛s
✐t s❤♦✉❧❞ ✐♥ ❢❛❝t ❜❡ ❡①♣❡❝t❡❞✳

■t ✐s ❝❧❡❛r ❢r♦♠ ♣❤②s✐❝❛❧ ❝♦♥s✐❞❡r❛t✐♦♥s t❤❛t t❤❡ ❜♦✉♥❞❛r②✲❧❛②❡r ✢♦✇ ❤❡r❡ ✐♥✐t✐❛t❡s ❛t t❤❡ ❝♦♥t❛❝t
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❧✐♥❡ ❛♥❞ ✐s ❞✐r❡❝t❡❞ t♦✇❛r❞s t❤❡ s②♠♠❡tr② ❛①✐s ✭❤❡♥❝❡ u < 0✮✳ ❋♦r♠❛❧❧②✱ ✐♥ t❤❡ ❢r❛♠❡✇♦r❦ ♦❢ t❤❡
❢♦r♠✉❧❛t✐♦♥ ❣✐✈❡♥ ❜② ❡qs ✶✾✲✷✹✱ ✐t ✐s t❤❡ ♦rt❤♦❣♦♥❛❧ ❜✉♦②❛♥❝② t❤❛t ❛❧✇❛②s ✭✐rr❡s♣❡❝t✐✈❡ ♦❢ t❤❡
✈❛❧✉❡s ♦❢ Gr ❛♥❞ θ✮ ❞♦♠✐♥❛t❡s ♦✈❡r t❤❡ t❛♥❣❡♥t✐❛❧ ♦♥❡ ❛t t❤❡ ✐♥✐t✐❛t✐♦♥✳ ❚❤✐s ❝❛♥ ❡✳❣✳ ❜❡ ✈❡r✐✜❡❞
❛ ♣♦st❡r✐♦r✐ ✉s✐♥❣ t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣ ✐♥✐t✐❛t✐♦♥ s♦❧✉t✐♦♥✱ ✇❤✐❝❤ ✐s s❡❧❢✲s✐♠✐❧❛r✿

u = −Gr
2/5 cos1/5θ (1− r)1/5U(η) , v = Gr

1/5 cos3/5θ (1− r)−2/5V (η) ,

p = Gr
4/5 cos2/5θ (1− r)2/5P (η) , χ = X(η) , η = Gr

1/5 cos3/5θ y (1− r)−2/5 ,

✈❛❧✐❞ ❛s r → 1 ✭♥♦t❡ t❤❛t Hr = 1/ cos θ ❛t r = 1✮✳ U ✱ V ✱ P ❛♥❞ X s❛t✐s❢② t❤❡ ❢♦❧❧♦✇✐♥❣ ❜♦✉♥❞❛r②✲
✈❛❧✉❡ ♣r♦❜❧❡♠ ❢♦r ♦r❞✐♥❛r② ❞✐✛❡r❡♥t✐❛❧ ❡q✉❛t✐♦♥s ✭♣r✐♠❡ ❞❡♥♦t✐♥❣ ❞✐✛❡r❡♥t✐❛t✐♦♥ ✇✐t❤ r❡s♣❡❝t t♦
η✮✿

1

5
U − 2

5
ηU ′ + V ′ = 0 ,

ρ̃g(X)

[

1

5
U2 +

(

V − 2

5
ηU − Sc

−1Mv/Mair − 1

ρ̃g(X)
X ′

)

U ′

]

= −2

5
P +

2

5
ηP ′ + (µ̃g(X)U ′)′ ,

0 = −P ′ +
X

χsat(Tamb)
,

(

V − 2

5
ηU

)

X ′ = Sc
−1X ′′ ,

U = 0 , V = − Sc
−1

1−X
X ′ , X = χsat(Tamb) at η = 0 ,

U → 0 , P → 0 , X → 0 as η → +∞ ,

✇❤✐❝❤ ✐s s♦❧✈❡❞ ♥✉♠❡r✐❝❛❧❧② ❜② ❛ s❤♦♦t✐♥❣ ♠❡t❤♦❞✳ ❲❡ s❡❡ t❤❛t t❤❡ ❜❡❤❛✈✐♦✉r ♦❢ t❤❡ s♦❧✉t✐♦♥ ✐s
❤❡r❡ s✐♥❣✉❧❛r ❛t t❤❡ st❛rt✐♥❣ ♣♦✐♥t ✭❛s r → 1✮✱ ✇❤✐❝❤ ✐s ♥♦t ❛t②♣✐❝❛❧ ❛t ❛❧❧ ✐♥ t❤❡ ❣❡♥❡r❛❧ ❝♦♥t❡①t ♦❢
❜♦✉♥❞❛r② ❧❛②❡rs❙✾✳ ■♥ ♣❛rt✐❝✉❧❛r✱ t❤❡ ❜♦✉♥❞❛r② ❧❛②❡r ❞❡✈❡❧♦♣s ❢r♦♠ ❛ ③❡r♦ t❤✐❝❦♥❡ss✱ t❤❡ t❤✐❝❦♥❡ss
❣r♦✇✐♥❣ ❛s (1− r)2/5✳ ❚❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ ✢✉① ❞✐✈❡r❣❡s ❛s Jl ∝ (1− r)−2/5 ❛s r → 1 ✭t❤❡ s❛♠❡
❛s v(r, η = 0)✱ ❝❢✳ ❡q ✷✺✮✳ ❚❤✐s ✐s ♥♦t ❛ ❢✉♥❞❛♠❡♥t❛❧ ❞✐✈❡r❣❡♥❝❡ t❤♦✉❣❤ ✭✉♥❧✐❦❡ t❤❡ ♦♥❡ ✐♥ t❤❡
♣✉r❡✲❞✐✛✉s✐♦♥ ❝❛s❡✮✱ ✐♥ t❤❡ s❡♥s❡ t❤❛t t❤❡ ❜♦✉♥❞❛r②✲❧❛②❡r ❛♣♣r♦❛❝❤ ✐s ♥♦t ✈❛❧✐❞ ✐♥ ❛ s♠❛❧❧ ✈✐❝✐♥✐t②
♦❢ t❤❡ st❛rt✐♥❣ ♣♦✐♥t ❛♥②✇❛②✳ ❚❤❡ ③♦♥❡ ✇❤❡r❡ ✐t ❜r❡❛❦s ❞♦✇♥ ❝❛♥ ❜❡ ❡st✐♠❛t❡❞ ❡✳❣✳ ❜② s❡tt✐♥❣
u ∼ v ✇✐t❤✐♥ t❤❡ s❡❧❢✲s✐♠✐❧❛r s♦❧✉t✐♦♥ ✭✐♥ t❤❡ r❡❣✐♦♥ ♦❢ ✈❛❧✐❞✐t②✱ ✐t ♠✉st ❜❡ u ≫ v ❛s Gr → ∞✮✳
❚❤✐s ❧❡❛❞s t♦ ❛♥ ❡st✐♠❛t✐♦♥ 1− r = O(Gr−1/3) ❢♦r t❤❡ ③♦♥❡ ✐♥ q✉❡st✐♦♥✳ ❲❡ ♥♦t❡ t❤❛t ✐♥ t❤❡ ❝❛s❡
Ma✱ ✇❤❡♥ uσ 6= 0 ✐s ❝♦♥s✐❞❡r❡❞✱ uσ ❜❡❤❛✈❡s ❧❡ss s✐♥❣✉❧❛r❧② ❛s r → 1 t❤❛♥ t❤❡ ❛❜♦✈❡ s❡❧❢✲s✐♠✐❧❛r
s♦❧✉t✐♦♥ ❛♥❞ t❤✉s ❞♦❡s ♥♦t ✐♥t❡r❢❡r❡ t♦ ❧❡❛❞✐♥❣ ♦r❞❡r ❛t t❤❡ ✐♥✐t✐❛t✐♦♥✿ ✐♥ ❢❛❝t✱ ✇✐t❤ t❤❡ ♣r❡s❡♥t
✜tt✐♥❣ ♦❢ t❤❡ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡ ❢r♦♠ ❡①♣❡r✐♠❡♥t✱ ✇❡ ❤❛✈❡ uσ ∝ (1− r) ❛s r → 1 ✭s❡❡ ❛❧s♦ t❤❡
♥❡①t s✉❜s❡❝t✐♦♥✮✱ ✇❤❡r❡❛s u ∝ (1− r)1/5 ❢♦r t❤❡ s❡❧❢✲s✐♠✐❧❛r s♦❧✉t✐♦♥✳

❚❤❡ ♣r♦❜❧❡♠ ✐s ❞✐s❝r❡t✐s❡❞ ❜② ✜♥✐t❡ ❞✐✛❡r❡♥❝❡s✳ ❚❤❡ ❝♦♥❞✐t✐♦♥s ❛t y → ∞ ❛r❡ ❛♣♣r♦①✐♠❛t❡❞
❛t s♦♠❡ ✜♥✐t❡ y = ymax ❞❡❡♠❡❞ t♦ ❜❡ s✉✣❝✐❡♥t❧② ❧❛r❣❡✳ ❚❤❡ ✐♥✐t✐❛t✐♦♥ s♦❧✉t✐♦♥ ✐s ❛♣♣❧✐❡❞ ✭❢♦r ❛❧❧
♣♦✐♥ts ❛❧♦♥❣ y✮ ❛t s♦♠❡ r = rmax < 1 ❞❡❡♠❡❞ t♦ ❜❡ s✉✣❝✐❡♥t❧② ❝❧♦s❡ t♦ r = 1 ✭t❤❡ ✜rst st❛t✐♦♥ ✐♥
t❤❡ ❝♦♠♣✉t❛t✐♦♥ s❝❤❡♠❡✮✳ ❍❡r❡ ✇❡ ✉s❡ rmax = 0.999✳ ❚❤❡♥✱ t❤❡ s♦❧✉t✐♦♥ ✭❢♦r ❛❧❧ y✮ ✐s ❛❞✈❛♥❝❡❞
t♦ t❤❡ ♥❡①t ❝❤♦s❡♥ ❞✐s❝r❡t❡ ♣♦s✐t✐♦♥ ✭st❛t✐♦♥✮ ✐♥ t❤❡ ❞❡❝r❡❛s✐♥❣ s❡♥s❡ ♦❢ r✱ ❡t❝✳ ❚❤✐s st❡♣✲❜②✲st❡♣
♣r♦❝❡❞✉r❡✱ ✐♥✈♦❧✈✐♥❣ ❛t ❡❛❝❤ st❡♣ t✇♦ s✉✣❝✐❡♥t❧② ❝❧♦s❡ ♥❡✐❣❤❜♦✉r✐♥❣ st❛t✐♦♥s✱ ♦♥❡ ❛t ✇❤✐❝❤ t❤❡
s♦❧✉t✐♦♥ ✐s ❛❧r❡❛❞② ❦♥♦✇♥ ❛♥❞ t❤❡ ♦t❤❡r ✇❤❡r❡ ✐t ✐s s♦✉❣❤t✱ ✐s ❤❡r❡ r❡❛❧✐s❡❞ s✐♠✐❧❛r❧② t♦ P♦tt❡r
❛♥❞ ❘✐❧❡②❙✶✵✳ ❚❤❡ ♣r♦❝❡❞✉r❡ ❝❛♥ ✐♥ ♣r✐♥❝✐♣❧❡ ❜❡ ❝♦♥t✐♥✉❡❞ ✉♣ t♦ r = 0✳ Pr❛❝t✐❝❛❧❧②✱ ❤♦✇❡✈❡r✱ ✐t
❤❛s t♦ ❜❡ st♦♣♣❡❞ ❛t ❛ s♠❛❧❧ ✜♥✐t❡ ✈❛❧✉❡ r = rmin ✭❤❡r❡ ✇❡ ❣♦ ✉♣ t♦ rmin = 0.04✮ ✐♥ ✈✐❡✇ ♦❢ t❤❡

❙✶✺



❣❡♦♠❡tr✐❝❛❧ s✐♥❣✉❧❛r✐t② ❛t t❤❡ s②♠♠❡tr② ❛①✐s ❛♥t✐❝✐♣❛t❡❞ ❜② t❤❡ ♣r❡s❡♥t ❜♦✉♥❞❛r②✲❧❛②❡r s♦❧✉t✐♦♥ ✐♥
t❤❡ ❢♦r♠ ♦❢ ❛ ❝♦rr❡s♣♦♥❞✐♥❣ s✐♥❣✉❧❛r ❜❡❤❛✈✐♦✉r ✐♥t❡r♣r❡t❡❞ ❛s ❛ ❞❡✈❡❧♦♣✐♥❣ ❡r✉♣t✐♦♥ ♣r❡❝✉rs♦r ❛s r
✐s ❞❡❝r❡❛s❡❞❙✶✵✳ ■♥ t❤❡ r❛♥❣❡ 0 < r < rmin✱ t❤❡ ❧♦❝❛❧ ✢✉① ✭❡q ✷✺✮ ✐s t❤❡♥ ♦❜t❛✐♥❡❞ ❜② ✐♥t❡r♣♦❧❛t✐♦♥
t♦ t❤❡ ♣♦✐♥t {r = 0, Jl = 0} ✐♥ ❛❝❝♦r❞❛♥❝❡ ✇✐t❤ t❤❡ ❡①♣❡❝t❡❞ ❜❡❤❛✈✐♦✉r ✐♥ t❤❡ ❢r❛♠❡✇♦r❦ ♦❢ t❤❡
❧❡❛❞✐♥❣✲♦r❞❡r ❜♦✉♥❞❛r②✲❧❛②❡r t❤❡♦r②❙✶✵✳ ❲❡ ♥♦t❡ t❤❛t t❤❡ ❜♦✉♥❞❛r②✲❧❛②❡r ❛♣♣r♦❛❝❤ ❛❝t✉❛❧❧② ❝❡❛s❡s
t♦ ❜❡ ✈❛❧✐❞ ❢♦r ❛ ❝❡rt❛✐♥ ✐♥t❡r✈❛❧ ♦❢ r ❛r♦✉♥❞ r = 0✱ ✇❤♦s❡ ❧❡♥❣t❤ ✐s ✐♥✈❡rs❡❧② ♣r♦♣♦rt✐♦♥❛❧ t♦ ❛
s♠❛❧❧ ♣♦s✐t✐✈❡ ♣♦✇❡r ♦❢ t❤❡ ●r❛s❤♦❢ ♥✉♠❜❡r❙✶✵✳ ■♥ ♦✉r ❝❛s❡✱ ✇✐t❤ Gr ∼ 852✱ ✇❡ ❡st✐♠❛t❡ t❤❛t t❤✐s
✐♥t❡r✈❛❧ ♠❛② ❜❡ ❛s ❧❛r❣❡ ❛s 0 < r < 0.5✳ ●✐✈❡♥ t❤❡ ❡❛r❧✐❡r ♠❡♥t✐♦♥❡❞ ✐♥✈❛❧✐❞✐t② ✐♥ ❛ ✈✐❝✐♥✐t② ♦❢
r = 1✱ t❤❡ r r❛♥❣❡ ✇❤❡r❡ t❤❡ ❜♦✉♥❞❛r②✲❧❛②❡r ❝♦♠♣✉t❛t✐♦♥ r❡s✉❧ts ❝❛♥ ❜❡ ♠❡❛♥✐♥❣❢✉❧❧② ❝♦♠♣❛r❡❞
✇✐t❤ ❡①♣❡r✐♠❡♥t ✐s t❤✉s r♦✉❣❤❧② ❧✐♠✐t❡❞ ✐♥ ❋✐❣✉r❡ ✺ ♦❢ t❤❡ ♠❛✐♥ t❡①t t♦ 0.5 < r < 0.9✳

▼❛r❛♥❣♦♥✐ ✢♦✇ ✐♥s✐❞❡ t❤❡ ❞r♦♣

❚❤❡ ❝♦♠♣✉t❛t✐♦♥ ✐s ❜❛s❡❞ ✉♣♦♥ t❤❡ ❢✉❧❧ ✐♥❝♦♠♣r❡ss✐❜❧❡ ◆❛✈✐❡r✲❙t♦❦❡s ❡q✉❛t✐♦♥s ✇✐t❤ ❝♦♥st❛♥t
♠❛t❡r✐❛❧ ♣r♦♣❡rt✐❡s ❛♥❞ t❤❡ ❛♣♣r♦♣r✐❛t❡ ❜♦✉♥❞❛r② ❝♦♥❞✐t✐♦♥s✳ ❚❤❡ ▼❛r❛♥❣♦♥✐ t❡r♠ ✐♥ t❤❡ t❛♥❣❡♥✲
t✐❛❧ str❡ss ❜❛❧❛♥❝❡ ❛t t❤❡ ❞r♦♣ ✐♥t❡r❢❛❝❡ ✐s ❡✈❛❧✉❛t❡❞ ✉s✐♥❣ t❤❡ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡ ❞✐str✐❜✉t✐♦♥
♠❡❛s✉r❡❞ ✐♥ t❤❡ ❡①♣❡r✐♠❡♥t✳ ▲❡t u ❛♥❞ w ❜❡ t❤❡ ❝②❧✐♥❞r✐❝❛❧ r❛❞✐❛❧ ❛♥❞ ✈❡rt✐❝❛❧ ✈❡❧♦❝✐t②✲✜❡❧❞
❝♦♠♣♦♥❡♥ts✱ r❡s♣❡❝t✐✈❡❧②✱ ❛❞✐♠❡♥s✐♦♥❛❧✐s❡❞ ✇✐t❤ νl/Rc✱ ✇❤❡r❡ νl = 3.21 × 10−7 m2/s ✐s t❤❡ ❦✐♥✲
❡♠❛t✐❝ ✈✐s❝♦s✐t② ♦❢ t❤❡ ❧✐q✉✐❞✳ ◆♦t❡ t❤❛t ❤❡r❡ u ✐s ❞✐✛❡r❡♥t ❢r♦♠ t❤❡ ♣r❡✈✐♦✉s s✉❜s❡❝t✐♦♥✳ ❚❤❡
❤②❞r♦❞②♥❛♠✐❝ ♣r❡ss✉r❡ p ✐s ♠❛❞❡ ❞✐♠❡♥s✐♦♥❧❡ss ✇✐t❤ µlνl/R

2
c ✱ ✇❤❡r❡ µl = 0.45 × 10−3 Pa s ✐s t❤❡

❞②♥❛♠✐❝ ✈✐s❝♦s✐t② ♦❢ t❤❡ ❧✐q✉✐❞✳ ❆s ❜❡❢♦r❡✱ Rc ✐s ✉s❡❞ ❛s t❤❡ ❧❡♥❣t❤ s❝❛❧❡ t❤r♦✉❣❤♦✉t✳ ❚❤❡ ❝②❧✲
✐♥❞r✐❝❛❧ ❝♦♦r❞✐♥❛t❡s ✉s❡❞ ✭r ❛♥❞ z✮ ❛r❡ t❤❡ s❛♠❡ ❛s ✐♥ t❤❡ ♣r❡✈✐♦✉s s✉❜s❡❝t✐♦♥s✳ ❚❤❡ ❝♦♥t✐♥✉✐t②
❛♥❞ ♠♦♠❡♥t✉♠ ❡q✉❛t✐♦♥s ❝❛♥ ❜❡ ✇r✐tt❡♥ ❛s

∂u

∂r
+

u

r
+

∂w

∂z
= 0 ,

u
∂u

∂r
+ w

∂u

∂z
= −∂p

∂r
+

∂2u

∂r2
+

1

r

∂u

∂r
− u

r2
+

∂2u

∂z2
,

u
∂w

∂r
+ w

∂w

∂z
= −∂p

∂z
+

∂2w

∂r2
+

1

r

∂w

∂r
+

∂2w

∂z2
.

❚❤❡ ❜♦✉♥❞❛r② ❝♦♥❞✐t✐♦♥s ✐♥❝❧✉❞❡ t❤❡ ♥♦✲s❧✐♣ ❛♥❞ ♥♦♥✲♣❡♥❡tr❛t✐♦♥ ♦♥❡s ❛t t❤❡ ❜♦tt♦♠✿

u = 0 , w = 0 at z = 0 ,

✇❤✐❧❡ t❤❡ ♥♦♥✲♣❡♥❡tr❛t✐♦♥ ❝♦♥❞✐t✐♦♥ ❛t t❤❡ ❞r♦♣❧❡t ✐♥t❡r❢❛❝❡ ✭t❤❡ ❡✈❛♣♦r❛t✐♦♥✲✐♥❞✉❝❡❞ ✈❡❧♦❝✐t② ✐s
♥❡❣❧❡❝t❡❞ ✈❡rs✉s t❤❡ ▼❛r❛♥❣♦♥✐ ♦♥❡✮ ❛♥❞ t❤❡ t❛♥❣❡♥t✐❛❧ str❡ss ❜❛❧❛♥❝❡ ✭♥❡❣❧❡❝t✐♥❣ t❤❡ ❣❛s s❤❡❛r
str❡ss✮ r❡❛❞

w = u
dh

dr
, 2

dh

dr

(

∂w

∂z
− ∂u

∂r

)

+

[

1−
(

dh

dr

)2
]

(

∂u

∂z
+

∂w

∂r

)

=
dσ

dT

Rc

µlνl

dTσ

dr

[

1 +

(

dh

dr

)2
]1/2

at z = h(r) ,

✇❤❡r❡ Tσ ❬❑❪ ✐s t❤❡ ❡①♣❡r✐♠❡♥t❛❧❧② ♠❡❛s✉r❡❞ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡ ❞✐str✐❜✉t✐♦♥ ❛♥❞ dσ/dT =
−1.06 × 10−3 N/mK ✐s t❤❡ s✉r❢❛❝❡ t❡♥s✐♦♥ ✈❛r✐❛t✐♦♥ ✇✐t❤ t❤❡ t❡♠♣❡r❛t✉r❡✳ ◆♦t❡ t❤❛t ✐♥ t❤❡
▼❛r❛♥❣♦♥✐ t❡r♠ ✭t❤❡ r✐❣❤t✲❤❛♥❞ s✐❞❡✮✱ ✉♥❧✐❦❡ t❤❡ r❡st ♦❢ t❤❡ ❢♦r♠✉❧❛t✐♦♥✱ ❛❧❧ t❤❡ q✉❛♥t✐t✐❡s ❛r❡
❤❡r❡ ❞✐♠❡♥s✐♦♥❛❧✱ ❡①❝❡♣t ❢♦r r ❛♥❞ h✳ ❚❤❡ ♥♦r♠❛❧ str❡ss ❜❛❧❛♥❝❡ ✐s ♥♦t ✉s❡❞ ❛s t❤❡ ❞r♦♣ s❤❛♣❡✱
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z = h(r)✱ ✐s ❝♦♥s✐❞❡r❡❞ ❛s ♣r❡s❝r✐❜❡❞✳ ❚❤❡ s②♠♠❡tr② ❛t t❤❡ ❛①✐s ❝❛♥ ❜❡ ❡①♣r❡ss❡❞ ❜②

u = 0 ,
∂w

∂r
= 0 ,

∂p

∂r
= 0 at r = 0 .

❚❤❡ ❜❡❤❛✈✐♦✉r ♦❢ t❤❡ s♦❧✉t✐♦♥ ❛s r → 1✱ ✇❤✐❝❤ ❝❛♥ ❜❡ ✉s❡❞ ❢♦r ❢♦r♠✉❧❛t✐♥❣ t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣
❜♦✉♥❞❛r② ❝♦♥❞✐t✐♦♥s✱ ✐s ❞❡t❡r♠✐♥❡❞ ❜② t❤❡ ❛ss♦❝✐❛t❡❞ ✏❝♦r♥❡r✑ s♦❧✉t✐♦♥ ♦❢ t❤❡ ❝r❡❡♣✐♥❣✲✢♦✇ ✭❙t♦❦❡s✮
❡q✉❛t✐♦♥s✳ ❆s Tσ ✐s ❤❡r❡ ✜tt❡❞ ❢r♦♠ ❡①♣❡r✐♠❡♥t s✉❝❤ ❛s t♦ ♣♦ss❡ss ❛ ✜♥✐t❡ ✈❛❧✉❡ ♦❢ dTσ/dr ❛s r → 1✱
♦♥❡ ❝❛♥ ❡st❛❜❧✐s❤ t❤❛t t❤❡ ✈❡❧♦❝✐t② ✜❡❧❞ ❞❡❝❛②s ♣r♦♣♦rt✐♦♥❛❧❧② t♦ t❤❡ ❞✐st❛♥❝❡ t♦ t❤❡ ❝♦♥t❛❝t ❧✐♥❡✱
u = O(1 − r) ❛♥❞ w = O(1 − r)✳ ■♥ ♣❛rt✐❝✉❧❛r✱ ✇❡ s❡❡ t❤❛t u → 0 ❛♥❞ w → 0 ❛s r → 1✳ ❖♥ t❤❡
♦t❤❡r ❤❛♥❞✱ t❤❡ ♣r❡ss✉r❡ ✜❡❧❞ ❞✐✈❡r❣❡s ❧♦❣❛r✐t❤♠✐❝❛❧❧②✳ ❋r♦♠ t❤❡ ❝♦r♥❡r s♦❧✉t✐♦♥ ✐♥ q✉❡st✐♦♥✱ ♦♥❡
❝❛♥ ♦❜t❛✐♥

p = − dσ

dT

Rc

µlνl

dTσ

dr

∣

∣

∣

∣

∣

r=1

sin θ sin 2θ

sin 2θ✕2θ cos 2θ
log

[

(1− r)2 + z2
]

+ const ,

✇❤❡r❡ θ = − arctan dh/dr
∣

∣

r=1
✐s t❤❡ ❝♦♥t❛❝t ❛♥❣❧❡✳ ●✐✈❡♥ t❤❛t t❤❡ ❛❜s♦❧✉t❡ ♣r❡ss✉r❡ ✈❛❧✉❡s ❛r❡

✐♠♠❛t❡r✐❛❧ ✐♥ t❤❡ ♣r❡s❡♥t ✐♥❝♦♠♣r❡ss✐❜❧❡ ❢♦r♠✉❧❛t✐♦♥ ✇✐t❤ ❛ ♣r❡s❝r✐❜❡❞ ✐♥t❡r❢❛❝❡✱ ♦♥❡ ❝❛♥ ❝❤♦♦s❡
const = 0 ✇✐t❤♦✉t ❧♦ss ♦❢ ❣❡♥❡r❛❧✐t②✳

❆❢t❡r ✐♥tr♦❞✉❝✐♥❣ ❛ ♥❡✇ ✈❛r✐❛❜❧❡ z̃ = z/h(r)✱ t❤❡ ♣r♦❜❧❡♠ ✐s ❞✐s❝r❡t✐s❡❞ ✇✐t❤ t❤❡ ❤❡❧♣ ♦❢ ✜♥✐t❡
❞✐✛❡r❡♥❝❡s ♦♥ ❛ ✉♥✐❢♦r♠ r❡❝t❛♥❣✉❧❛r ❣r✐❞✳ ■t ✐s s♦❧✈❡❞ ❜② t❤❡ ◆❡✇t♦♥✲❘❛♣❤s♦♥ ♠❡t❤♦❞ ✐♠♣❧❡♠❡♥t❡❞
✐♥ ❲♦❧❢r❛♠ ▼❛t❤❡♠❛t✐❝❛ ✭FindRoot ❝♦♠♠❛♥❞✮✳ ❆s ❛ r❡s✉❧t ♦❢ t❤✐s ❝♦♠♣✉t❛t✐♦♥✱ ♦♥❡ ♦❜t❛✐♥s ✐♥
♣❛rt✐❝✉❧❛r t❤❡ t❛♥❣❡♥t✐❛❧ ✈❡❧♦❝✐t② uσ ❞✐str✐❜✉t✐♦♥ ❛t t❤❡ ❞r♦♣ ✐♥t❡r❢❛❝❡ ✉s❡❞ ✐♥ ❡q ✷✸✳

❙✐♠✉❧❛t✐♦♥ ❙❡tt✐♥❣s

❚❤❡ ❛❜♦✈❡ ✭q✉❛s✐✲st❛t✐♦♥❛r②✮ ❛♥❛❧②s✐s ✐s ♣❡r❢♦r♠❡❞ ❢♦r ✶✶ ❞✐✛❡r❡♥t ✐♥st❛♥❝❡s ❞✉r✐♥❣ t❤❡ ❞r♦♣❧❡t
❡✈❛♣♦r❛t✐♦♥✳ ❚❤❡ ❞r♦♣❧❡t ❝♦♥t♦✉r ❛♥❞ t❤❡ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡ ❛r❡ ❜♦t❤ ✜tt❡❞ ✇✐t❤ s♠♦♦t❤
❛♥❛❧②t✐❝ ❢✉♥❝t✐♦♥s ❛♥❞ t❤❡ ✜tt✐♥❣ ❝♦❡✣❝✐❡♥ts ❛r❡ s❤♦✇♥ ✐♥ ❚❛❜❧❡ ❙✶✳ ❚❤❡ ❝♦♥t♦✉r ✐s ✜tt❡❞ t♦ ❛ ✹t❤
♦r❞❡r ♣♦❧②♥♦♠✐❛❧ ✭z = ar4+ br2+ c✮ ✇✐t❤ r, z ❡①♣r❡ss❡❞ ✐♥ ♣✐①❡❧s ✭✶ ♣✐①❡❧ ❤❡r❡ ❡q✉❛❧s ✼✳✹➭♠✮✳ ❚❤❡
✜tt✐♥❣ ❝♦❡✣❝✐❡♥ts ✉s❡❞ ✐♥ ❡q ✹ ❢♦r t❤❡ ✐♥t❡r❢❛❝✐❛❧ ♠♦❧❡ ❢r❛❝t✐♦♥s ✭❢r♦♠ ✇❤❡r❡ t❤❡ t❡♠♣❡r❛t✉r❡ ✐s
✐♥❢❡rr❡❞ ❜② ♠❡❛♥s ♦❢ t❤❡ ❈❧❛✉s✐✉s✲❈❧❛♣❡②r♦♥ r❡❧❛t✐♦♥✮ ❛r❡ α, β ❛♥❞ γ✳

❚❛❜❧❡ ❙✶✿ ❋✐tt✐♥❣ ❝♦❡✣❝✐❡♥ts ✉s❡❞ ✐♥ t❤❡ s✐♠✉❧❛t✐♦♥s✳

Rc ❬♠♠❪ a× 10−9 b× 10−3 c α β γ

✷✳✶✵ ✼✳✹✻ ✲✷✳✹✸ ✶✺✵ ✵✳✹✸✺ ✸✳✺✹ ✷✳✽✷
✷✳✵✷ ✻✳✼✾ ✲✷✳✸✼ ✶✸✽ ✵✳✷✶✻ ✵✳✽✷ ✻✳✽✺
✶✳✾✷ ✻✳✽✶ ✲✷✳✷✸ ✶✷✵ ✵✳✷✸✷ ✵✳✽✹ ✻✳✼✾
✶✳✽✼ ✺✳✻✽ ✲✷✳✶✼ ✶✶✸ ✵✳✸✸✸ ✶✳✺✹ ✹✳✼✼
✶✳✽✶ ✺✳✷✺ ✲✷✳✶✶ ✶✵✻ ✵✳✸✻✵ ✷✳✷✷ ✸✳✾✸
✶✳✼✻ ✺✳✵✸ ✲✷✳✵✽ ✾✾ ✵✳✸✹✶ ✶✳✻✹ ✹✳✻✷
✶✳✻✸ ✹✳✻✵ ✲✶✳✾✼ ✽✹ ✵✳✸✺✹ ✷✳✶✷ ✸✳✸✷
✶✳✺✻ ✺✳✵✽ ✲✶✳✾✾ ✼✽ ✵✳✸✵✺ ✶✳✸✷ ✹✳✸✻
✶✳✹✾ ✷✳✵✶ ✲✶✳✽✺ ✼✵ ✵✳✸✾✻ ✷✳✼✼ ✸✳✵✸
✶✳✹✶ ✸✳✼✸ ✲✶✳✾✸ ✻✹ ✵✳✸✻✸ ✷✳✶✷ ✷✳✾✼
✶✳✷✺ ✵✳✶✹ ✲✶✳✽✸ ✺✶ ✵✳✸✻✶ ✷✳✹✵ ✷✳✼✶

■♥ ❛❞❞✐t✐♦♥ t♦ t❤❡ ❝♦♠♣✉t❛t✐♦♥ r❡s✉❧ts ♣r♦✈✐❞❡❞ ✐♥ t❤❡ ♠❛✐♥ t❡①t✱ s♦♠❡ ❢✉rt❤❡r ❞❡t❛✐❧s ❛r❡
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s❤♦✇♥ ✐♥ ❋✐❣✉r❡s ❙✼ ❛♥❞ ❙✽✳
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❋✐❣✉r❡ ❙✼✿ ❈♦♠♣✉t❡❞ t❛♥❣❡♥t✐❛❧ s✉r❢❛❝❡ ✈❡❧♦❝✐t② ✭❛❞✐♠❡♥s✐♦♥❛❧✐s❡❞ ✇✐t❤ νair/Rc✱ ❛s ✐♥ ❡q ✷✸✮ ♦❢ t❤❡
▼❛r❛♥❣♦♥✐ ✢♦✇ ✐♥s✐❞❡ t❤❡ ❞r♦♣❧❡t ✇✐t❤ Rc = 1.81mm✳ ◗✉✐t❡ ❛ s✐♠✐❧❛r s✐♥❣❧❡✲✈♦rt❡① ▼❛r❛♥❣♦♥✐
❝♦♥✈❡❝t✐♦♥ ❤❛s ❛❧s♦ ❜❡❡♥ ♦❜t❛✐♥❡❞ ❡❧s❡✇❤❡r❡❙✶✸✱❙✶✹✳
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❋✐❣✉r❡ ❙✽✿ ❈♦♠♣✉t❡❞ t❛♥❣❡♥t✐❛❧✲✈❡❧♦❝✐t② ❛♥❞ ♠♦❧❡✲❢r❛❝t✐♦♥ ♦rt❤♦❣♦♥❛❧ ♣r♦✜❧❡s ❛t ✈❛r✐♦✉s r❛❞✐❛❧
♣♦s✐t✐♦♥s ❛❧♦♥❣ t❤❡ ✐♥t❡r❢❛❝❡ ✭❛❞✐♠❡♥s✐♦♥❛❧✐s❡❞ ❛s ✐♥ ❡qs ✶✾✲✷✹✮ ✐♥ t❤❡ ❝❛s❡ Ma ❢♦r t❤❡ ❞r♦♣❧❡t ✇✐t❤
Rc = 1.81mm✳

❉✳ ❊st✐♠❛t✐♦♥ ♦❢ t❡♠♣❡r❛t✉r❡ ✈❛r✐❛t✐♦♥s ✐♥ t❤❡ ✇❛❢❡r

❍❡r❡ ✇❡ ♣r♦✈✐❞❡ ❡st✐♠❛t✐♦♥s ❝♦♥✜r♠✐♥❣ ♦✉r ❤②♣♦t❤❡s✐s t❤❛t t❤❡ t❡♠♣❡r❛t✉r❡ ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡ ✐s
❝❧♦s❡ ❡♥♦✉❣❤ t♦ t❤❡ ❛♠❜✐❡♥t ♦♥❡ s♦ ❛s t♦ ♥❡❣❧❡❝t t❤❡ ❞✐✛❡r❡♥❝❡✳ ❚❤❡ ✇❛② ✇❡ ♣r♦❝❡❡❞ ✐s t✇♦✲❢♦❧❞✳
❖♥ t❤❡ ♦♥❡ ❤❛♥❞✱ ✇❡ ❛ss❡ss t❤❡ ❣❧♦❜❛❧ t❡♠♣❡r❛t✉r❡ ❞r♦♣ ✐♥ ♦✉r s✐❧✐❝♦♥ ✇❛❢❡r ❞✉❡ t♦ ❡✈❛♣♦r❛t✐✈❡
❝♦♦❧✐♥❣✳ ❖♥ t❤❡ ♦t❤❡r ❤❛♥❞✱ ✇❡ ❡st✐♠❛t❡ t❤❡ t❡♠♣❡r❛t✉r❡ ♥♦♥✲✉♥✐❢♦r♠✐t② ✐♥ t❤❡ ✇❛❢❡r t❛❦✐♥❣ ✐♥t♦
❛❝❝♦✉♥t ❛ ♣❛rt✐❝✉❧❛r❧② ❤✐❣❤ ❡✈❛♣♦r❛t✐♦♥ ✢✉① ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡✳

❚❤❡ ❡♥❡r❣② r❡q✉✐r❡❞ t♦ ❡✈❛♣♦r❛t❡ ❛ ✈♦❧✉♠❡ Vl ♦❢ t❤❡ ❧✐q✉✐❞ ✐s Vl ρl L✱ ✇❤❡r❡ ρl = 1400 kg/m3

✐s t❤❡ ❍❋❊✲✼✵✵✵ ❧✐q✉✐❞ ❞❡♥s✐t② ❛♥❞ L = 142 kJ/kg ✐s ✐ts ❧❛t❡♥t ❤❡❛t ♦❢ ❡✈❛♣♦r❛t✐♦♥✳ ■❢ t❤✐s ❝♦♠❡s
❛t t❤❡ ❡①♣❡♥s❡ ♦❢ ❝♦♦❧✐♥❣ t❤❡ ✇❛❢❡r✱ ✐t ♠✉st ❜❡ ❡q✉❛❧ t♦ Vs ρs cps ∆T ✱ ✇❤❡r❡ ∆T ✐s t❤❡ ✇❛❢❡r
t❡♠♣❡r❛t✉r❡ ❞r♦♣✱ Vs t❤❡ ✈♦❧✉♠❡ ♦❢ t❤❡ ✇❛❢❡r✱ ρs ✐ts ❞❡♥s✐t② ❛♥❞ cps ✐ts s♣❡❝✐✜❝ ❤❡❛t✳ ❋♦r s✐❧✐❝♦♥✱
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✇❡ t❛❦❡ ρs = 2329 kg/m3 ❛♥❞ cps = 1414 J/kgK✳ ❖✉r ✇❛❢❡r ✐s ❝✐r❝✉❧❛r ✇✐t❤ ❛ r❛❞✐✉s ♦❢ 2.54 cm
❛♥❞ ❛ t❤✐❝❦♥❡ss ds = 0.5mm✱ ❤❡♥❝❡ Vs ≈ 1ml✳ ❋♦r ♦✉r ♣❡♥❞❛♥t ❞r♦♣s✱ Vl ∼ 5µl✳ ❚❤✐s ②✐❡❧❞s
∆T ∼ 0.3K✱ ✇❤✐❝❤ ✐s ❞❡❡♠❡❞ t♦ ❜❡ ✐♥❡ss❡♥t✐❛❧✳ ❍♦✇❡✈❡r✱ ✐♥ ✈✐❡✇ ♦❢ ❛ ✜♥✐t❡ t❤❡r♠❛❧ ❞✐✛✉s✐✈✐t②
κs = λs/ρscps ♦❢ t❤❡ s♦❧✐❞ ✭❡✈❡♥ t❤♦✉❣❤ r❡❧❛t✐✈❡❧② ❧❛r❣❡ ❤❡r❡✱ ✇✐t❤ λs = 149W/mK ❢♦r s✐❧✐❝♦♥✮✱
t❤❡ ❝♦♦❧✐♥❣ ❞♦❡s ♥♦t ♣r♦❝❡❡❞ ✉♥✐❢♦r♠❧② ✐♥ t❤❡ ✇❤♦❧❡ ✇❛❢❡r✱ ❜✉t r❛t❤❡r ✐♥✈♦❧✈❡s ❞✐st❛♥❝❡s ♦❢ t❤❡
♦r❞❡r ♦❢

√
κst ❢r♦♠ t❤❡ ❞r♦♣❧❡t✱ ✇❤❡r❡ t ✐s t❤❡ t✐♠❡✳ ❚❤✉s✱ t❤❡ ❡♥❡r❣② ❧♦st ❞✉❡ t♦ t❤❡ ❝♦♦❧✐♥❣

✐s ∼ π (
√
κst)

2 ds ρs cps ∆T = π ds λs ∆T t✳ ■♥ t❤❡ ❜❡❣✐♥♥✐♥❣✱ t❤❡ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ✐s ❛t
✐ts ♠❛①✐♠✉♠✱ ♦❢ t❤❡ ♦r❞❡r ♦❢ Jg ∼ 1µl/s ✭❝❢✳ ❋✐❣✉r❡ ✻✮✱ ♦r ✐♥ ♠❛ss ✉♥✐ts Jg ∼ 1.4 × 10−6 kg/s✳
❙♦♠❡✇❤❛t ♦✈❡r❡st✐♠❛t✐♥❣✱ t❤❡ ❡✈❛♣♦r❛t✐♦♥ ❡♥❡r❣② ✉♣ t♦ t❤❡ ♠♦♠❡♥t t ✐s ♦❢ t❤❡ ♦r❞❡r ♦❢ Jg L t✳
❊q✉❛t✐♥❣ t❤❡ t✇♦ ❡♥❡r❣✐❡s✱ ♦♥❡ ♦❜t❛✐♥s ∆T ∼ Jg L/(π λs ds) ∼ 0.9K✱ ✇❤✐❝❤ ✐s ❛❧r❡❛❞② ♠♦r❡
❝♦♥s✐❞❡r❛❜❧❡✱ ❜✉t st✐❧❧ ❜❡❧♦✇ 1K✳

❊st✐♠❛t✐♦♥ ♦❢ t❡♠♣❡r❛t✉r❡ ♥♦♥✲✉♥✐❢♦r♠✐t② ✐♥ t❤❡ ✇❛❢❡r ✐s ❤❡r❡ s♦♠❡✇❤❛t ❝♦♠♣❧✐❝❛t❡❞ ❜② t❤❡
❢❛❝t t❤❛t ♥❡✐t❤❡r ❢r♦♠ ❡①♣❡r✐♠❡♥t ♥♦r ❢r♦♠ ♠♦❞❡❧❧✐♥❣ ✇❡ ❞✐s♣♦s❡ ♦❢ ❛♥ ❡①❛❝t ❜❡❤❛✈✐♦✉r ♦❢ t❤❡
❡✈❛♣♦r❛t✐♦♥ ✢✉① ✐♥ ❛ ❝❧♦s❡ ♥❡✐❣❤❜♦✉r❤♦♦❞ ♦❢ t❤❡ ❝♦♥t❛❝t ❧✐♥❡✱ ❥✉st ✇❤❡r❡ ✐t ❛tt❛✐♥s ✐ts ♠❛①✐♠✉♠✳
❚♦ r❡♠❡❞② t❤✐s ❞✐✣❝✉❧t②✱ ✇❡ ♣✉t t♦ t❡st ❛ ♥✉♠❜❡r ♦❢ ❞✐✛❡r❡♥t r❡❛s♦♥❛❜❧❡ ❜❡❤❛✈✐♦✉rs ❛♥❞ s❤♦✇
t❤❛t t❤❡s❡ r❡s✉❧t ✐♥ ♠♦r❡ ♦r ❧❡ss t❤❡ s❛♠❡ ✐♥s✐❣♥✐✜❝❛♥t t❡♠♣❡r❛t✉r❡ ♥♦♥✲✉♥✐❢♦r♠✐t②✳ ●✐✈❡♥ ❛♥
❡st✐♠❛t✐✈❡ ❝❤❛r❛❝t❡r ♦❢ t❤❡ ❛♥❛❧②s✐s✱ ✇❡ ❛ss✉♠❡ ❢♦r s✐♠♣❧✐❝✐t② t❤❛t t❤❡ ❡✈❛♣♦r❛t✐✈❡ ❤❡❛t ❧♦ss ❛t
t❤❡ ❞r♦♣ ✐♥t❡r❢❛❝❡ ✐s ❞✐r❡❝t❧② ❛♣♣❧✐❡❞✴tr❛♥s❢❡rr❡❞ t♦ t❤❡ s✉r❢❛❝❡ ♦❢ t❤❡ ✇❛❢❡r✳ ❲❡ ❢♦❝✉s ♦♥ t❤❡
♥❡❛r✲❝♦♥t❛❝t✲❧✐♥❡ ❜❡❤❛✈✐♦✉r ♦❢ t❤❡ t❡♠♣❡r❛t✉r❡ ✜❡❧❞ ✐♥ t❤❡ ✇❛❢❡r✱ ✇❤✐❝❤ ✐s t❤❡♥ ❡①tr❛♣♦❧❛t❡❞ t♦
❛ ❞✐st❛♥❝❡ ♦❢ t❤❡ ♦r❞❡r ♦❢ t❤❡ ❞r♦♣ r❛❞✐✉s t♦ ②✐❡❧❞ ❛♥ ❡st✐♠❛t✐♦♥ ♦❢ ❛♥ ♦✈❡r❛❧❧ t❡♠♣❡r❛t✉r❡ ♥♦♥✲
✉♥✐❢♦r♠✐t②✳ ❋♦r ❞❡✜♥✐t❡♥❡ss✱ ❝♦♥❝r❡t❡ ❡✈❛❧✉❛t✐♦♥s ❛r❡ ♠❛❞❡ ❢♦r ❛ ❞r♦♣ ✇✐t❤ Rc = 1.81mm✱ ✉s❡❞ ❛s
t❤❡ ♠❛✐♥ ✐❧❧✉str❛t✐♦♥ ❡①❛♠♣❧❡ t❤r♦✉❣❤♦✉t t❤❡ ♠❛✐♥ t❡①t✳ ◆♦t❡ t❤❛t t❤❡ ✇❛❢❡r t❤✐❝❦♥❡ss✱ 0.5mm✱
✐s ♥♦t ♠✉❝❤ s♠❛❧❧❡r t❤❛♥ t❤❡ ❞r♦♣ r❛❞✐✉s✱ s♦ t❤❛t t❤❡ ♠❡♥t✐♦♥❡❞ ❡st✐♠❛t✐✈❡ ❡①tr❛♣♦❧❛t✐♦♥✱ ❤❡r❡
♠❛❞❡ ❢♦r ❛ s❡♠✐✲✐♥✜♥✐t❡ s✉❜str❛t❡✱ ✐s st✐❧❧ ❞❡❡♠❡❞ t♦ ❜❡ r❡❛s♦♥❛❜❧❡✳ ■♥ ❣❡♥❡r❛❧✱ t❤❡ ❞❡✈❡❧♦♣♠❡♥ts
❛r❡ ❤❡r❡ s✐♠✐❧❛r t♦ ❘✐st❡♥♣❛rt ❡t ❛❧✳❙✶✷✳

❋✐❣✉r❡ ❙✾✿ ❈♦♥✜❣✉r❛t✐♦♥ s❦❡t❝❤ ✉s❡❞ ❢♦r ❡st✐♠❛t✐♦♥ ♦❢ t❡♠♣❡r❛t✉r❡ ♥♦♥✲✉♥✐❢♦r♠✐t② ✐♥ t❤❡ s♦❧✐❞ ✐♥
❛ s♠❛❧❧ ✈✐❝✐♥✐t② ♦❢ t❤❡ ❝♦♥t❛❝t ❧✐♥❡✳

❲❡ ✉s❡ ❛ ♣♦❧❛r ❝♦♦r❞✐♥❛t❡ s②st❡♠ (r̃, ϕ) ❞❡✜♥❡❞ ✐♥ t❤❡ ♠❡r✐❞✐❛♥ ❝r♦ss✲s❡❝t✐♦♥ ♦❢ t❤❡ ❞r♦♣
❛♥❞ ❝❡♥t❡r❡❞ ❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡ t♦ ✇♦r❦ ✐♥ ❛ ✈✐❝✐♥✐t② ♦❢ t❤❡ ❧❛tt❡r ✭s❡❡ ❋✐❣✉r❡ ❙✾✮✳ ❚❤❡ r❛❞✐❛❧

❝♦♦r❞✐♥❛t❡ r̃ ✐s ❛❞✐♠❡♥s✐♦♥❛❧✐s❡❞ ✇✐t❤ Rc✱ ✐✳❡✳ r̃ = [(r −Rc)
2 + z2]

1/2
/Rc✳ ■♥ ❛❧❧ t❡st ❝❛s❡s ✉s❡❞✱

t❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ ✢✉① ✐s r❡♣r❡s❡♥t❡❞ ♥❡❛r t❤❡ ❝♦♥t❛❝t ❧✐♥❡ ✭r̃ ≪ 1✮ ❛s ❛ ♣♦✇❡r ❧❛✇

Jl = J0/r̃
α , ✭✷✻✮

✇✐t❤ 0 ≤ α ≤ 1/2 ❛♥❞ J0 ✭kg/m
2s✮ ❛❞♦♣t❡❞ ✐♥ ❛ r❡❛s♦♥❛❜❧❡ ✇❛② ❢r♦♠ ❡✐t❤❡r t❤❡ ❡①♣❡r✐♠❡♥t ♦r t❤❡

❙✶✾



s✐♠✉❧❛t✐♦♥s✳ ❚❤❡ t❡♠♣❡r❛t✉r❡ ✜❡❧❞ Ts ✐♥ t❤❡ ✇❛❢❡r s❛t✐s✜❡s t❤❡ ▲❛♣❧❛❝❡ ❡q✉❛t✐♦♥

∂2Ts

∂r̃2
+

1

r̃

∂Ts

∂r̃
+

1

r̃2
∂2Ts

∂ϕ2
= 0 .

▲❡t ϕ = 0 ❝♦rr❡s♣♦♥❞ t♦ t❤❡ s♦❧✐❞✕❣❛s s✉r❢❛❝❡✱ ✇❤❡r❡ ✇❡ ❤❛✈❡ ❛♥ ✐♥s✉❧❛t✐♦♥ ❝♦♥❞✐t✐♦♥ ❞✉❡ t♦ ❛
♣♦♦r t❤❡r♠❛❧ ❝♦♥❞✉❝t✐✈✐t② ♦❢ t❤❡ ❣❛s✿

∂Ts/∂ϕ = 0 at ϕ = 0 .

❚❤❡ s♦❧✐❞✕❧✐q✉✐❞ s✉r❢❛❝❡ ❝♦rr❡s♣♦♥❞s t♦ ϕ = π✱ ✇❤❡r❡ ✐♥ ❛❝❝♦r❞❛♥❝❡ ✇✐t❤ ✇❤❛t ✐s s❛✐❞ ❛❜♦✈❡ ✇❡
✐♠♣♦s❡ ❛♥ ❡✈❛♣♦r❛t✐✈❡ ❤❡❛t ❧♦ss✿

λs
1

r̃

∂Ts

∂ϕ
= −LJl Rc at ϕ = π ,

✇❤❡r❡ λs = 149W/mK ✐s t❤❡ t❤❡r♠❛❧ ❝♦♥❞✉❝t✐✈✐t② ♦❢ t❤❡ ✇❛❢❡r ✭s✐❧✐❝♦♥ ✐♥ ♦✉r ❝❛s❡✮ ❛♥❞ L =
142 kJ/kg ✐s t❤❡ ❍❋❊✲✼✵✵✵ ❧❛t❡♥t ❤❡❛t ♦❢ ❡✈❛♣♦r❛t✐♦♥✳ ❚❤❡ ♣r♦❜❧❡♠ ✐s ❢♦r♠✉❧❛t❡❞ ✐♥ t❤❡ ❞♦♠❛✐♥
r̃ > 0✱ 0 ≤ ϕ ≤ π ✭s❡❡ ❋✐❣✉r❡ ❙✾✮✳

❆s ❛ ✜rst t❡st ❝❛s❡✱ ✇❡ ✉s❡ t❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ✐♥ t❤❡ ❢♦r♠ ❛♣♣❧✐❝❛❜❧❡ t♦ ❛ ✢❛tt❡♥❡❞ ❞r♦♣
❡✈❛♣♦r❛t✐♥❣ ✐♥ t❤❡ ♣✉r❡ ❞✐✛✉s✐♦♥ r❡❣✐♠❡✱ ❡q ✶✸✱ ❡✈❡♥ t❤♦✉❣❤ ✇❡ r❡✇r✐t❡ ✐t ❤❡r❡ ✇✐t❤ ❛ ❞✐✛❡r❡♥t
❢❛❝t♦r ❛s ❢♦❧❧♦✇s✿

Jl =
J0
√
2

√

1− r2/R2
c

, ✭✷✼✮

✇❤✐❝❤ ❝♦♥❢♦r♠s t♦ t❤❡ ❡❛r❧✐❡r ❛❞♦♣t❡❞ ♥❡❛r✲❝♦♥t❛❝t✲❧✐♥❡ ❜❡❤❛✈✐♦✉r✱ ❡q ✷✻✱ ✇✐t❤ α = 1/2✳ ❚❤❡ ✈❛❧✉❡
♦❢ J0 ✐s t❛❦❡♥ s✉❝❤ t❤❛t t❤❡ ♠❡❛s✉r❡❞ ❣❧♦❜❛❧ ❡✈❛♣♦r❛t✐♦♥ ✢✉① Jg ✐s ❡q✉❛❧ t♦ t❤❡ ♦♥❡ ♦❜t❛✐♥❡❞ ❜② t❤❡

✐♥t❡❣r❛t✐♦♥ ♦❢ ❡q ✷✼ ♦✈❡r t❤❡ ✢❛tt❡♥❡❞✲❞r♦♣ s✉r❢❛❝❡✱ t❤❡ ❧❛tt❡r ❜❡✐♥❣ 2π
´ Rc

0
Jl r dr = 2

√
2 π J0 R

2
c ✳

❋♦r ❛ ❍❋❊✲✼✵✵✵ ❞r♦♣ ✇✐t❤ Rc = 1.81mm✱ ✇❡ ❤❛✈❡ Jg ≈ 0.7µl/s ≈ 10−6 kg/s ✭❝❢✳ ❋✐❣✉r❡ ✻ ♦❢
t❤❡ ♠❛✐♥ t❡①t✮ ❛♥❞ t❤✉s J0 ≈ 0.034 kg/m2s✳ ❚❤❡ ❛♣♣r♦♣r✐❛t❡ s♦❧✉t✐♦♥ ♦❢ t❤❡ ❢♦r♠✉❧❛t❡❞ ♣r♦❜❧❡♠
✭✉s✐♥❣ ❡q ✷✻✱ ♥♦t ❡q ✷✼✮ ❢♦r Ts ✇✐t❤ α = 1/2 ✐s

Ts = Ts0 +
2LJ0Rc

λs

r̃1/2 cos
1

2
ϕ ,

✇❤❡r❡ Ts0 ✐s ❛ ❝♦♥st❛♥t ✭✇❤✐❝❤ ❝❛♥ ✐♥ ♣r✐♥❝✐♣❧❡ ❜❡ ❢♦✉♥❞ ❜② ♠❛t❝❤✐♥❣ ✇✐t❤ t❤❡ ❢✉❧❧ s♦❧✉t✐♦♥✱ ✐♥
t❤❡ ✇❤♦❧❡ ✇❛❢❡r✮✳ ❚❤❡ s♦❧✉t✐♦♥ ♣r♦✈✐❞❡❞ ✐s ✈❛❧✐❞ ✐♥ ❛ s♠❛❧❧ ✈✐❝✐♥✐t② ♦❢ t❤❡ ❝♦♥t❛❝t ❧✐♥❡✳ ❍♦✇❡✈❡r✱
❡①tr❛♣♦❧❛t✐♦♥ t♦ r̃ ∼ 1 ✭❡✳❣✳ ❛❧♦♥❣ ϕ = 0✮ ②✐❡❧❞s ❛♥ ❡st✐♠❛t❡ ❢♦r t❤❡ s♣❛t✐❛❧ ✈❛r✐❛t✐♦♥ ♦❢ t❤❡ ✇❛❢❡r
t❡♠♣❡r❛t✉r❡✱ ∆Ts ∼ 2LJ0Rc/λs✱ ♦♥ t❤❡ s❝❛❧❡ ♦❢ t❤❡ ❞r♦♣❧❡t r❛❞✐✉s✳ ❲✐t❤ ❛❧❧ t❤❡ ♣❛r❛♠❡t❡r ✈❛❧✉❡s
❣✐✈❡♥ ❛❜♦✈❡✱ ♦♥❡ ♦❜t❛✐♥s ∆Ts ∼ 0.12K✱ ✇❤✐❝❤ ✐s ❛ s♠❛❧❧ ✈❛❧✉❡ ✐♥❞❡❡❞✳

❆s ❛ s❡❝♦♥❞ t❡st ❝❛s❡✱ ✇❡ ❛ss✉♠❡ t❤❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ t❡♥❞✐♥❣ t♦ ❛ ✜♥✐t❡ ♠❛①✐♠✉♠ ✈❛❧✉❡
❛t t❤❡ ❝♦♥t❛❝t ❧✐♥❡✱ ❛♥❞ t❤✉s α = 0 ✐♥ ❡q ✷✻✳ ❲❡ ❛❞♦♣t ❢r♦♠ ❡①♣❡r✐♠❡♥t ✭❝❢✳ ❋✐❣✉r❡ ✺ ♦❢ t❤❡ ♠❛✐♥
t❡①t✮ J0 ∼ 0.15 kg/m2s✳ ❚❤❡ s♦❧✉t✐♦♥ ❢♦r Ts ✇✐t❤ α = 0 ✐s

Ts = Ts0 +
LJ0Rc

πλs

(r̃ϕ sinϕ− r̃ log(r̃/k) cosϕ)

✭k ❜❡✐♥❣ ❛ ❝♦♥st❛♥t✮✱ ❛♥❞ ♥♦✇ ✇❡ s❡❡ t❤❛t ∆Ts ∼ LJ0Rc/πλs ∼ 0.08K✱ ♦♥❝❡ ❛❣❛✐♥ ❛ s♠❛❧❧ ✈❛❧✉❡✳
❆s ❛ ❧❛st t❡st ❝❛s❡✱ ✇❡ ✉s❡ t❤❡ ♥❡❛r✲❝♦♥t❛❝t✲❧✐♥❡ ❧♦❝❛❧ ❡✈❛♣♦r❛t✐♦♥ r❛t❡ ❣✐✈❡♥ ❜② t❤❡ ✐♥✐t✐❛t✐♦♥

s♦❧✉t✐♦♥ ✇✐t❤✐♥ t❤❡ ❜♦✉♥❞❛r②✲❧❛②❡r s❝❤❡♠❡ ✭s❡❡ t❤❡ ❝♦rr❡s♣♦♥❞✐♥❣ s✉❜s❡❝t✐♦♥ ❛❜♦✈❡✮✳ ■♥ t❤✐s ❝❛s❡✱
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✇❡ ❤❛✈❡ α = 2/5 ❛♥❞ J0 ≈ 0.05 kg/m2s✳ ❚❤❡ s♦❧✉t✐♦♥ ❢♦r Ts ✇✐t❤ α = 2/5 ✐s

Ts = Ts0 +
5LJ0Rc

3λs sin 3π/5
r̃3/5 cos

3

5
ϕ ,

❛♥❞ ♥♦✇ ∆Ts ∼ 5LJ0Rc/3λs sin 3π/5 ∼ 0.15K✳
❖✈❡r❛❧❧✱ ✇❡ s❡❡ t❤❛t t❤❡ ❝♦♦❧✐♥❣ ♦❢ t❤❡ s✉❜str❛t❡ ✐s ❤❡r❡ ❡①♣❡❝t❡❞ t♦ ❜❡ ♦❢ t❤❡ ♦r❞❡r ♦❢ 1K✳ ❚❤✐s

✐s s♠❛❧❧ r❡❧❛t✐✈❡ t♦ t❤❡ t❡♠♣❡r❛t✉r❡ ❢❛❧❧ ❛t t❤❡ ❞r♦♣❧❡t ✐♥t❡r❢❛❝❡ ✭❝❢✳ ❋✐❣✉r❡ ✹✮✱ ❛♥❞ r♦✉❣❤❧② ✇✐t❤✐♥
t❤❡ ❡①♣❡r✐♠❡♥t❛❧ ❡rr♦r ❢♦r t❤❡ ♠❡❛s✉r❡♠❡♥t ♦❢ t❤❡ ✐♥t❡r❢❛❝✐❛❧ t❡♠♣❡r❛t✉r❡✳ ❚❤✉s✱ ✇❡ ♥❡❣❧❡❝t ✐t ✐♥
t❤❡ ♣r❡s❡♥t ♣❛♣❡r✱ ❝♦♥s✐❞❡r✐♥❣ t❤❛t t❤❡ s✉❜str❛t❡ ✭❛♥❞ ❤❡♥❝❡ t❤❡ ❝♦♥t❛❝t ❧✐♥❡✮ ❛r❡ ❛t t❤❡ ❛♠❜✐❡♥t
t❡♠♣❡r❛t✉r❡✳

❘❡❢❡r❡♥❝❡s

✭❙✶✮ ❉❛s❝❤✱ ❈✳ ❖♥❡✲❞✐♠❡♥s✐♦♥❛❧ t♦♠♦❣r❛♣❤②✿ ❛ ❝♦♠♣❛r✐s♦♥ ♦❢ ❆❜❡❧✱ ♦♥✐♦♥✲♣❡❡❧✐♥❣✱ ❛♥❞ ✜❧t❡r❡❞
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